IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

Chapter 11

WOODBRIDGE GROUP OF COMPANIES,

Case No. 17-12560 (KJC)

LLC, et al., 1

(Jointly Administered)

Debtors.

Objection Deadline: January 9, 2019 at 4:00 p.m. (ET)

SUMMARY OF TWELFTH MONTHLY FEE APPLICATION OF YOUNG CONAWAY STARGATT & TAYLOR, LLP AS CO-COUNSEL FOR THE DEBTORS AND DEBTORS-IN-POSSESSION FOR ALLOWANCE OF COMPENSATION AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD FROM NOVEMBER 1, 2018 THROUGH NOVEMBER 30, 2018

Young Conaway Stargatt & Taylor, LLP Name of Applicant:

Debtors and Debtors-in-Possession Authorized to Provide Professional Services to:

January 23, 2018 (Nunc Pro Tunc to December 4, Date of Retention:

2017)

Period for which compensation and

November 1, 2018 Through November 30, 2018 reimbursement is sought:

Amount of Compensation sought as

\$150,092.00 actual, reasonable and necessary:

Amount of Expense Reimbursement sought

\$14,302.26 as actual, reasonable and necessary:

This is an: X interim ____ final application

This application includes 2.60 hours and \$876.50 in fees incurred in connection with the preparation of Fee Applications.

The last four digits of Woodbridge Group of Companies, LLC's federal tax identification number are 3603. The mailing address for Woodbridge Group of Companies, LLC is 14225 Ventura Boulevard #100, Sherman Oaks, California 91423. Due to the large number of debtors in these cases, which are being jointly administered for procedural purposes only, a complete list of the Debtors, the last four digits of their federal tax identification numbers, and their addresses are not provided herein. A complete list of such information may be obtained on the website of the Debtors' noticing and claims agent at www.gardencitygroup.com/cases/WGC, or by contacting the undersigned counsel for the Debtors.

Prior applications:

		Reque	ested		Approved	
Date Filed / Docket No.	Period Covered	Fees	Expenses	Fees	Expenses	Order Entered
2/16/18 617	12/4/17- 12/31/17	414,253.50	15,635.13			7/9/18 2122
3/19/18 786	1/1/18- 1/31/18	642,819.50	35,666.19			7/9/18 2122
4/10/18 922	2/1/18- 2/28/18	550,042.50	21,469.92			7/9/18 2122
				\$1,605,197.00	68,788.20	7/9/18 2122
5/14/18 1756	3/1/18- 3/31/18	469,250.00	44,562.14	469,250.00	44,562.14	10/22/18 2847
6/4/18 1922	4/1/18- 4/30/18	416,851.50	37,052.84	416,851.50	37,052.84	10/22/18 2847
6/29/18 2063	5/1/18- 5/31/18	256,812.50	5,396.03	256,812.50	5,396.03	10/22/18 2847
7/16/18 2176	6/1/18- 6/30/18	156,268.50	3,435.24	Pending	Pending	
8/24/18 2417	7/1/18- 7/31/18	195,789.00	3,136.68	Pending	Pending	
9/20/18 2640	8/1/18- 8/30/18	205,755.00	4,193.71	Pending	Pending	
10/26/18 2897	9/1/18- 9/30/18	163,471.50	5,050.27	Pending	Pending	
11/20/18 3113	10/1/18- 10/31/18	150,092.00	14,302.26	Pending	Pending	

COMPENSATION BY INDIVIDUAL

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) (including changes)	Total Billed Hours	Total Compensation (\$)
Edmon L. Morton	Partner since 2008. Joined firm as an associate in 1999. Member of DE Bar since 1999.	750.00	0.20	150.00
Sean M. Beach	Partner since 2009. Joined the firm as an associate in 2000. Member of DE Bar since 2001.	715.00	8.30	5,934.50
Donald J. Bowman, Jr.	Counsel since 2015. Joined firm as an associate in 2005. Member of DE Bar since 2003.	565.00	0.70	395.50
Michael S. Neiburg	Joined firm as an associate in 2008. Member of DE Bar since 2009.	555.00	37.20	20,646.00
Ian J. Bambrick	Joined the firm as an associate in 2010. Member of DE Bar since 2010.	470.00	59.40	27,918.00
Allurie R. Kephart	Joined firm as an associuate in 2017. Member of DE Bar since 2012.	460.00	0.10	46.00
Betsy L. Feldman	Joined firm as an associate in 2017. Member of DE Bar since 2017.	300.00	41.70	12,510.00
Matthew Milana	Joined firm as an associate in 2018.	275.00	14.80	4,070.00
Brenda Walters	Paralegal	285.00	0.30	85.50
Debbie Laskin	Paralegal	285.00	70.40	20,064.00
Monica Fratticci	Paralegal	175.00	2.00	350.00
Grand Total:			235.10	92,169.50
Blended Rate:		392.04		

COMPENSATION BY PROJECT CATEGORY

Project Category	Total Hours	Total Fees(\$)
Case Administration (docketing, calendar preparation, paperflow) (B001)	8.40	3,039.50
Court Hearings (attendance and preparation) (B002)	13.30	5,321.00
Cash Collateral/DIP Financing (B003)	4.90	2,026.50
Schedules & Statements, U.S. Trustee Reports (B004)	2.30	1,073.50
Lease / Executory Contract Issues (B005)	6.70	2,895.00
Use, Sale or Lease of Property (B006)	31.20	10,829.50
Claims Analysis, Objections & Resolutions (B007)	9.40	2,973.50
Other Adversary Proceedings (B011)	118.60	49,660.50
Plan and Disclosure Statement (B012)	11.10	4,740.00
Creditor Inquiries (B013)	1.40	462.00
General Corporate Matters (B014)	4.20	1,583.00
Employee Matters (B015)	0.70	378.00
Retention of Professionals / Fee Issues (B017)	20.30	6,311.00
Fee Application Preparation (B018)	2.60	876.50
TOTALS	235.10	92,169.50

EXPENSE SUMMARY

Expenses Category	Total Expenses(\$)
Reproduction Charges	498.00
Federal Express	39.50
Deposition/transcript	761.25
Delivery/Courier	80.00
Working Meals	234.02
Teleconference/Video Conference	7.37
Postage	594.55
Secretary of State	50.00
TOTAL DISBURSEMENTS	2,264.69

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

WOODBRIDGE GROUP OF COMPANIES, LLC, et al., 1

Debtors.

Chapter 11

Case No. 17-12560 (KJC)

(Jointly Administered)

Objection Deadline: January 9, 2019 at 4:00 p.m. (ET)

TWELFTH MONTHLY FEE APPLICATION OF YOUNG CONAWAY STARGATT & TAYLOR, LLP AS CO-COUNSEL FOR THE DEBTORS AND DEBTORS-IN-POSSESSION FOR ALLOWANCE OF COMPENSATION AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD FROM NOVEMBER 1, 2018 THROUGH NOVEMBER 31, 2018

Pursuant to 11 U.S.C. §§ 330 and 331 and Rule 2016 of the Federal Rules of Bankruptcy Procedure, the law firm of Young Conaway Stargatt & Taylor, LLP (hereinafter "YCS&T") hereby moves this Court for reasonable compensation for professional legal services rendered as co-counsel to the above-captioned debtors and debtors-in-possession (the "Debtors") in the amount of \$92,169.50, together with reimbursement for actual and necessary expenses incurred in the amount of \$2,264.69, for the period commencing November 1, 2018 through and including November 30, 2018 (the "Fee Period"). In support of its Application, YCS&T respectfully represents as follows:

1. YCS&T was employed to represent the Debtors as bankruptcy co-counsel in connection with these chapter 11 cases, pursuant to an Order entered by this Court on January 23, 2018 [Docket No. 359] (the "YCS&T Retention Order"). The YCS&T Retention Order

The last four digits of Woodbridge Group of Companies, LLC's federal tax identification number are 3603. The mailing address for Woodbridge Group of Companies, LLC is 14225 Ventura Boulevard #100, Sherman Oaks, California 91423. Due to the large number of debtors in these cases, which are being jointly administered for procedural purposes only, a complete list of the Debtors, the last four digits of their federal tax identification numbers, and their addresses are not provided herein. A complete list of such information may be obtained on the website of the Debtors' noticing and claims agent at www.gardencitygroup.com/cases/WGC, or by contacting the undersigned counsel for the Debtors.

authorized YCS&T to be compensated on an hourly basis and to be reimbursed for actual and necessary out-of-pocket expenses.

2. All services for which compensation is requested by YCS&T were performed for or on behalf of the Debtors.

SUMMARY OF SERVICES RENDERED

- 3. Attached hereto as <u>Exhibit A</u> is a detailed statement of fees incurred during the Fee Period showing the amount of \$92,169.50 due for fees. <u>Exhibit B</u> is a detailed statement of expenses paid during the Fee Period showing the amount of \$2,264.69 for reimbursement of expenses.
- 4. The services rendered by YCS&T during the Fee Period are grouped into the categories set forth in <u>Exhibit A</u>. The attorneys and paralegals who rendered services relating to each category are identified, along with the number of hours for each individual and the total compensation sought for each category, in the attachments hereto.

DISBURSEMENTS

5. YCS&T has incurred disbursements during the Fee Period in the amount of \$2,264.69. This disbursement sum is broken down into categories of charges, including, among other things, telephone and telecopier toll and other charges, mail and express mail charges, special or hand delivery charges, document processing, photocopying charges, charges for mailing supplies (including, without limitation, envelopes and labels) provided by the Firm to outside copying services for use in mass mailings, travel expenses, expenses for "working meals," computerized research, transcription costs, as well as non-ordinary overhead expenses such as secretarial and other overtime. A complete review by category of the expenses incurred for the Fee Period may be found in the attachments hereto as Exhibit B. To the extent such itemization is insufficient to satisfy the requirements of Rule 2016-2(e)(ii) of the Local Rules of

Practice and Procedure of the United States Bankruptcy Court for the District of Delaware (the "Local Rules"), YCS&T respectfully requests that the Court waive strict compliance with such rule.

6. Costs incurred for overtime and computer assisted research are not included in YCS&T's normal hourly billing rates and, therefore, are itemized and included in YCS&T's disbursements. Pursuant to Local Rule 2016-2, YCS&T represents that its rate for duplication is \$.10 per page, its rate for outgoing telecopier transmissions is \$.25 per page (excluding related long distance transmission charges), there is no charge for incoming telecopier transmissions and there is no surcharge for computerized research.

VALUATION OF SERVICES

- 7. Attorneys and paraprofessionals of YCS&T have expended a total of 235.10 hours in connection with this matter during the Fee Period.
- 8. The amount of time spent by each of these persons providing services to the Debtors for the Fee Period is fully set forth in the detail attached hereto as Exhibit A. These are YCS&T's normal hourly rates of compensation for work of this character. The reasonable value of the services rendered by YCS&T for the Period as co-counsel for the Debtors is \$150,092.00.
- 9. YCS&T believes that the time entries included in <u>Exhibit A</u> attached hereto and the expense breakdown set forth in <u>Exhibit B</u> hereto are in compliance with the requirements of Local Rule 2016-2.
- 10. The Retention Order also provides that YCS&T will make a reasonable effort to comply with the U.S. Trustee's requests for information and additional disclosures as set forth in the Guidelines for Reviewing Applications for Compensation and Reimbursement of Expenses Filed under 11 U.S.C. § 330 by Attorneys in Large Chapter 11 Cases Effective as of

November 1, 2013. Accordingly, attached hereto as Exhibit C is YCS&T 's budget and staffing

plan for the Fee Period, as approved by the Debtors.

11. In accordance with the factors enumerated in 11 U.S.C. §330, the amount

requested is fair and reasonable given (a) the complexity of these cases, (b) the time expended,

(c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs

of comparable services other than in a case under this title.

12. This Application covers the period November 1, 2018 through and

including November 30, 2018. YCS&T has and will continue to perform additional necessary

services subsequent to November 30, 2018, for which YCS&T will file subsequent fee

applications.

WHEREFORE, YCS&T requests that allowance be made to it in the sum of

\$92,169.50 as compensation for necessary professional services rendered to the Debtors for the

Fee Period, and the sum of \$2,264.69 for reimbursement of actual necessary costs and expenses

incurred during that period, and further requests such other and further relief as this Court may

deem just and proper.

Dated:

Wilmington, Delaware

December 20, 2018

/s/ Sean M. Beach

YOUNG CONAWAY STARGATT & TAYLOR, LLP

Edmon L. Morton (No. 3856)

Sean M. Beach (No. 4070)

Ian J. Bambrick (No. 5455)

Allison S. Mielke (No. 5934)

Rodney Square, 1000 North King Street

Wilmington, Delaware 19801

Tel: (302) 571-6600

Fax: (302)

(302) 571-1253

(302) 371-123.

Counsel to the Debtors and Debtors in Possession

VERIFICATION

STATE OF DELAWARE)	
)	SS
NEW CASTLE COUNTY)	

Sean M. Beach, Esquire, after being duly sworn according to law, deposes and says:

- 1. I am a Partner in the applicant firm, Young Conaway Stargatt & Taylor, LLP, and have been admitted to the bar of the Supreme Court of Delaware since 2000.
- 2. I have personally performed many of the legal services rendered by Young Conaway Stargatt & Taylor, LLP, as co-counsel for the Debtors and am thoroughly familiar with all other work performed on behalf of the Debtors by the lawyers and paraprofessionals in the firm.
- 3. The facts set forth in the foregoing Application are true and correct to the best of my knowledge, information and belief.

SEÁN M. BEACH

SWORN TO AND SUBSCRIBED before me this 20 day of December 2018.

Notary Public

My Commission Expires:

DEBBIE ELLEN LASKIN
NOTARY PUBLIC
STATE OF DELAWARE
My Commission Expires October 31, 2020

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

WOODBRIDGE GROUP OF COMPANIES, LLC, et al., 1

Debtors.

Chapter 11

Case No. 17-12560 (KJC)

(Jointly Administered)

Objection Deadline: January 9, 2019 at 4:00 p.m. (ET)

NOTICE OF APPLICATION

TO: (I) THE DEBTORS; (II) COUNSEL FOR THE DIP LENDER, (III) COUNSEL FOR THE COMMITTEE, (IV) COUNSEL FOR THE AD HOC NOTEHOLDER GROUP; (V) COUNSEL FOR THE AD HOC UNITHOLDER GROUP; (VI) THE SECURITIES AND EXCHANGE COMMISSION, (VI) THE FEE EXAMINER, (VIII) OFFICE OF THE UNITED STATES TRUSTEE;

The Twelfth Monthly Fee Application of Young Conaway Stargatt & Taylor, LLP (YCS&T)as Co-Counsel to the Debtors and Debtors-in-Possession for Allowance of Compensation and Reimbursement of Expenses for the Period from November 1, 2018 Through November 30, 2018 (the "Application") has been filed with the Bankruptcy Court. The Application seeks allowance of monthly fees in the amount of \$92,169.50 and monthly expenses in the amount of \$2,264.69.

Objections to the Application, if any, are required to be filed on or before **January 9**, **2019 at 4:00 p.m. (ET)** (the "Objection Deadline") with the Clerk of the United States Bankruptcy Court for the District of Delaware, 3rd Floor, 824 Market Street, Wilmington, Delaware 19801.

At the same time, you must also serve a copy of the objection so as to be received by the following on or before the Objection Deadline: (i) the Debtors, 14140 Ventura Boulevard #302, Sherman Oaks, California 91423, Attn: Bradley Sharp; (ii) counsel for the Debtors, Klee, Tuchin, Bogdanoff & Stern LLP, 1999 Avenue of the Stars, 39th Floor, Los Angeles, CA 90067, Attn: Jonathan Weiss, Esq., and Young, Conaway, Stargatt & Taylor, LLP, Rodney Square, 1000 N. King Street, Wilmington, Delaware 19801, Attn: Sean M. Beach, Esq.; (iii) counsel for the DIP Lender, Buchalter, 1000 Wilshire Boulevard, Suite 1500, Los Angeles, California 90017, Attn: William Brody, Esq.; (iv) counsel for the Committee, Pachulski Stang Ziehl & Jones LLP, 919 Market Street, 17th Floor, Wilmington, Delaware 19801, Attn: Bradford J. Sandler, Esq.; (v) counsel to the Ad Hoc Noteholder Group, Drinker Biddle & Reath LLP, 222 Delaware Avenue, Suite 1410, Wilmington,

The last four digits of Woodbridge Group of Companies, LLC's federal tax identification number are 3603. The mailing address for Woodbridge Group of Companies, LLC is 14225 Ventura Boulevard #100, Sherman Oaks, California 91423. Due to the large number of debtors in these cases, which are being jointly administered for procedural purposes only, a complete list of the Debtors, the last four digits of their federal tax identification numbers, and their addresses are not provided herein. A complete list of such information may be obtained on the website of the Debtors' noticing and claims agent at www.gardencitygroup.com/cases/WGC, or by contacting the undersigned counsel for the Debtors.

Delaware 19801, Attn: Steven K. Kortanek, Esq.; (vi) counsel for the Ad Hoc Unitholder Group, Venable LLP, 1201 N. Market Street, Suite 1400, Wilmington, Delaware 19801, Attn: Jamie L. Edmonson, Esq. and 1270 Avenue of the Americas, New York, New York 10020, Attn: Jeffrey S. Sabin, Esq.; (vii) counsel for the Securities and Exchange Commission, 950 East Paces Ferry Road, N.E., Suite 900, Atlanta, Georgia 30326, Attn: David Baddley, Esq.; (viii) the Fee Examiner, Elise S. Frejka, Frejka PLLC, 420 Lexington Avenue, Suite 310, New York, New York 10170; (ix) any other party that has requested to be a Notice Party; and (x) the United States Trustee for the District of Delaware, J. Caleb Boggs Federal Building, 844 King Street, Suite 2207, Lockbox 35, Wilmington, Delaware 19801, Attn: Jane M. Leamy, Esq. and Timothy J. Fox, Esq.

PLEASE TAKE FURTHER NOTICE THAT PURSUANT TO THE ORDER **INTERIM COMPENSATION** AND **FOR PROCEDURES ESTABLISHING** REIMBURSEMENT EXPENSES FOR RETAINED PROFESSIONALS [DOCKET NO. 261], IF NO OBJECTIONS ARE FILED AND SERVED IN ACCORDANCE WITH THE ABOVE PROCEDURE, THE DEBTORS WILL BE AUTHORIZED TO PAY 80% OF REQUESTED INTERIM FEES AND 100% OF REQUESTED INTERIM EXPENSES WITHOUT FURTHER ORDER OF THE COURT. ONLY IF AN OBJECTION IS PROPERLY AND TIMELY FILED IN ACCORDANCE WITH THE ABOVE PROCEDURE WILL A HEARING BE HELD ON THE APPLICATION. ONLY THOSE PARTIES TIMELY FILING AND SERVING OBJECTIONS WILL RECEIVE NOTICE AND BE HEARD AT SUCH HEARING.

Dated: December 20, 2018
Wilmington, Delaware

/s/ Sean M. Beach

YOUNG CONAWAY STARGATT & TAYLOR, LLP

Edmon L. Morton (No. 3856) Sean M. Beach (No. 4070) Ian J. Bambrick (No. 5455) 1000 North King Street Wilmington, Delaware 19801

Tel: (302) 571-6600 Fax: (302) 571-1253

-and-

KLEE, TUCHIN, BOGDANOFF & STERN LLP

Kenneth N. Klee (admitted *pro hac vice*)
Michael L. Tuchin (admitted *pro hac vice*)
David A. Fidler (admitted *pro hac vice*)
Jonathan M. Weiss (admitted *pro hac vice*)
1999 Avenue of the Stars, 39th Floor
Los Angeles, California 90067

Tel: (310) 407-4000 Fax: (310) 407-9090

Counsel for the Debtors and Debtors in Possession

EXHIBIT A

YOUNG CONAWAY STARGATT & TAYLOR, LLP

RODNEY SQUARE 1000 NORTH KING STREET WILMINGTON, DELAWARE 19801

P.O. BOX 391 WILMINGTON, DELAWARE 19899-0391

(302) 571-6600 (800) 253-2234 (DE ONLY)

TAX I.D. NO. 51-0082644

(302) 571-1253 FAX www.ycst.com

Writer's Direct Dial (302) 571-6621

Writer's E-Mail sbeach@ycst.com

Bradley D. Sharp Chief Restructuring Officer 13351 Riverside Drive Suite D Sherman Oaks, CA 91432 Invoice Date: Invoice Number: Matter Number: December 17, 2018 50000959 076549.1001

Re: Debtor Representation

CURRENT INVOICE

Professional Services	\$ 92,169.50	
Disbursements	\$ 2,264.69	
Total Due This Invoice	\$ 94,434.19	

Invoice Date: Invoice Number: Matter Number: December 17, 2018 50000959 076549.1001

Time Detail

Task Code:	B001	Case Administration			
Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/02/18	BFELD	Review critical dates calendar re: upcoming response deadlines in adversary proceedings	0.20	300.00	60.00
11/05/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
11/06/18	IBAMB	Review docket for responses to Hollyline Sale Motion	0.10	470.00	47.00
11/07/18	IBAMB	Confer with D. Laskin re: request for electronic notifications for adversary proceedings	0.10	470.00	47.00
11/07/18	BFELD	Review critical dates calendar	0.20	300.00	60.00
11/07/18	IBAMB	Review and revise tracking chart of upcoming deadlines and critical dates	1.60	470.00	752.00
11/08/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
11/08/18	DLASK	Review and update critical dates with respect to adversary matters	0.40	285.00	114.00
11/08/18	DLASK	Update December Agenda	0.30	285.00	85.50
11/09/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.30	285.00	85.50
11/09/18	DLASK	Review and respond to emails from Garden City Group regarding service instructions for orders and settlement motions	0.10	285.00	28.50
11/09/18	SBEAC	Review critical dates calendar	0.10	715.00	71.50
11/12/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
11/12/18	IBAMB	Confer with D. Fidler and D. Laskin re: time for filing CNOs in light of holiday	0.10	470.00	47.00
11/13/18	BFELD	Finalize for filing CNO re: motion to extend exclusivity	0.10	300.00	30.00
11/13/18	BFELD	Finalize for filing deposition notices	0.50	300.00	150.00
11/13/18	IBAMB	Confer with D. Laskin re: CNOs for filing 11/13	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/14/18	IBAMB	Confirm filing of CNOs for St Loius Sale Motion and Lease Rejection Motion	0.10	470.00	47.00
11/15/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
11/15/18	IBAMB	Confer with D. Laskin re: revision to tracking chart of upcoming deadlines and critical dates	0.10	470.00	47.00
11/16/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.30	285.00	85.50
11/16/18	IBAMB	Confer with S. Persichilli re: updated service info provided by Provident Trust Group	0.10	470.00	47.00
11/16/18	IBAMB	Review tracking chart of critical dates for upcoming response deadlines	0.10	470.00	47.00
11/16/18	IBAMB	Confer with D. Fidler and D. Laskin re: correction to docket entry	0.20	470.00	94.00
11/16/18	BFELD	Review critical dates calendar re: upcoming case deadlines	0.20	300.00	60.00
11/18/18	IBAMB	Confer with D. Laskin re: status of title review for upcoming sale motions	0.10	470.00	47.00
11/19/18	MNEIB	Emails with I. Bambrick re: case status issues and hearing agenda	0.10	555.00	55.50
11/21/18	DLASK	Update critical dates	0.20	285.00	57.00
11/21/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.20	285.00	57.00
11/26/18	DLASK	Update critical dates	0.30	285.00	85.50
11/27/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
11/27/18	IBAMB	Confer with D. Laskin re: latest version of tracking chart of upcoming deadlines and critical dates	0.10	470.00	47.00
11/28/18	BFELD	Review critical dates calendar re: upcoming deadlines in main and adversary cases	0.90	300.00	270.00
11/29/18	IBAMB	Review updated tracking chart of upcoming deadlines and critical dates	0.10	470.00	47.00
11/29/18	BFELD	Review critical dates calendar re: upcoming deadlines in main and adversary cases	0.50	300.00	150.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/30/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel	0.10	285.00	28.50
		Total	8.40		3,039.50
Task Code	B002	Court Hearings			
<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	<u>Amount</u>
11/05/18	DLASK	Update November Agenda	0.20	285.00	57.00
11/07/18	IBAMB	Confer with N. Hunt re: January, February, March, and April omnibus hearings	0.10	470.00	47.00
11/08/18	IBAMB	Confer with S. Beach and E. Morton re: hearing dates for January through March	0.20	470.00	94.00
11/08/18	SBEAC	Emails with I. Bambrick re: hearing issues	0.10	715.00	71.50
11/08/18	IBAMB	Follow-up with S. Beach and E. Morton re: hearing dates for January through March	0.10	470.00	47.00
11/08/18	IBAMB	Confer with N. Hunt re: late November hearing	0.10	470.00	47.00
11/09/18	IBAMB	Confer with D. Fidler and J. Weiss re: potential hearing dates	0.10	470.00	47.00
11/09/18	DLASK	Update November 20 Agenda	0.20	285.00	57.00
11/09/18	DLASK	Update December Agenda	0.20	285.00	57.00
11/12/18	IBAMB	Confer with L. Richenderfer re: likely further adjournment of Sale Hearing	0.10	470.00	47.00
11/12/18	IBAMB	Confer with N. Hunt re: alternative March hearing date	0.10	470.00	47.00
11/13/18	IBAMB	Attend to 11/20 hearing logistics	0.10	470.00	47.00
11/13/18	SBEAC	Call with Judge Carey chambers re: Hearing issues	0.10	715.00	71.50
11/14/18	IBAMB	Confer with D. Stern, S. Kidder, and E. Morton re: 11/20 hearing prep and logistics	0.20	470.00	94.00
11/14/18	DLASK	Update Agenda	0.30	285.00	85.50
11/15/18	DLASK	Assemble pleadings for hearing binders	0.30	285.00	85.50
11/15/18	DLASK	Prepare Certification of Counsel regarding Omnibus Hearing Dates	0.30	285.00	85.50
11/15/18	IBAMB	Confer with J. Martinez re: prep for 11/20 hearing	0.10	470.00	47.00
11/15/18	DLASK	File Certification of Counsel regarding Hearing Dates	0.30	285.00	85.50

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 6 of 59

Invoice Date:

Invoice Number:

December 17, 2018

50000959

076549.1001 Matter Number: **Amount** Hours Rate **Description Initials Date** 235.00 0.50 470.00 Confer (multiple) with N. Hunt, C. 11/15/18 **IBAMB** Robinson, E. Frejka, D. Fidler, and J. Weiss re: scheduling omnibus hearings 752.00 470.00 1.60 Review and revise 11/20 agenda **IBAMB** 11/15/18 114.00 285.00 Finalize for filing and coordinate service 0.40 DLASK 11/16/18 of November 20 Agenda 47.00 470.00 0.10 Review docket re: orders approving 11/16/18 **IBAMB** December, January, and February hearing dates 47.00 0.10 470.00 Confer with M. Tuchin and D. Laskin **IBAMB** 11/16/18 re: telephonic appearance for M. Tuchin for 11/20 hearing 94.00 470.00 0.20 Review and revise Amended Agenda **IBAMB** 11/19/18 0.30 285.00 85.50 Prepare Amended Agenda **DLASK** 11/19/18 285.00 57.00 0.20 Make arrangements for counsel to 11/19/18 **DLASK** appear telephonically at hearing 94.00 470.00 Confer with D. Laskin re: updates for 0.20 11/19/18 **IBAMB** amended agenda 85.50 285.00 Finalize for filing and coordinate service 0.30 **DLASK** 11/20/18 of Amended Agenda 47.00 0.10 470.00 Confer with S. Kidder re: status of 11/20 **IBAMB** 11/20/18 hearing transcript 94.00 0.20 470.00 Follow-up meeting with B. Sharp, D. **IBAMB** 11/20/18 Stern, and M. Tuchin (partial via telephone) re: result of 11/20 hearing 47.00 Confer with D. Laskin re: scheduling of 0.10 470.00 **IBAMB** 11/20/18 12/12 hearing and notice for same 85.50 285.00 Prepare supplemental hearing binder for 0.30 **DLASK** 11/20/18 the Court 141.00 0.30 470.00 Prep materials for 11/20 hearing **IBAMB** 11/20/18 282.00 470.00 Attend hearing on Stay Motion (opening 0.60 **IBAMB** 11/20/18 introduction and assist D. Stern with Debtors' objection to Stay Motion) 94.00 470.00 Meet with B. Sharp and D. Stern re: 0.20 **IBAMB** 11/20/18 hearing prep 30.00 300.00 0.10 Prepare for hearing re: committee **BFELD** 11/20/18 motion for stay pending appeal 199.50 0.70 285.00 Assist counsel in preparation for hearing **DLASK** 11/20/18 57.00 285.00 0.20 Update December 19 Agenda **DLASK** 11/20/18 28.50 285.00 Make arrangments for F. Chin to appear 0.10 **DLASK** 11/20/18 telephonically at hearing 517.00 470.00 Prep for 11/20 hearing (review materials 1.10 11/20/18 **IBAMB** on Sarachek Motion for Stay Pending Appeal and objections thereto and prep introduction)

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	<u>Amount</u>
11/20/18	IBAMB	Meet with counsel to Committee, Noteholders, Unitholders, D. Stern, and B. Sharp while waiting for hearing to comment on Sarachek Motion for Stay Pending Appeal re: Stay Motion and responses to same	0.50	470.00	235.00
11/20/18	IBAMB	Prep for 11/20 hearing (review materials and introduction)	0.50	470.00	235.00
11/20/18	IBAMB	Confer with D. Fidler and D. Laskin re: 11/20 hearing transcript	0.10	470.00	47.00
11/21/18	IBAMB	Confer with N. Hunt and D. Laskin re: cancellation of 11/28 hearing	0.10	470.00	47.00
11/21/18	DLASK	Update December 19 Agenda	0.20	285.00	57.00
11/26/18	IBAMB	Confer with D. Laskin re: cancellation of 11/28 hearing	0.10	470.00	47.00
11/29/18	DLASK	Draft December 12 Hearing Agenda	0.20	285.00	57.00
11/29/18	DLASK	Update December 19 Hearing Agenda	0.30	285.00	85.50
11/30/18	DLASK	Update December Hearing Agenda	0.20	285.00	57.00
		Total	13.30		5,321.00
Task Cod	e: B003	Cash Collateral/DIP Financing			
<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/13/18	IBAMB	Confer with S. Beach and E. Morton re: potential second DIP amendment	0.10	470.00	47.00
11/13/18	SBEAC	Email with I. Bambrick re: Amendment Number Two to Senior Secured Debtor in Possession Loan and Security Agreement (.1); Review same (.2)	0.30	715.00	214.50
11/13/18	IBAMB	Review and revise notice and order for Second DIP Amendment and review same	0.60	470.00	282.00
11/15/18	DLASK	Finalize for filing and coordinate service of Notice of Proposed Amendment to DIP Credit Agreement	1.00	285.00	285.00
11/15/18	IBAMB	Review Final DIP Order re: service requirements for DIP Amendments	0.10	470.00	47.00
11/15/18	IBAMB	Finalize and coordinate filing of Notice of Second DIP Amendment	0.20	470.00	94.00
11/15/18	IBAMB	Confer with D. Fidler and B. Feldman re: Second DIP Amendment and filing same	0.20	470.00	94.00
11/16/18	IBAMB	Review docket re: filing of Second DIP Notice	0.10	470.00	47.00
11/27/18	IBAMB	Review DIP Amendment	0.10	470.00	47.00
					Page Number 6

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/27/18	DLASK	Prepare Certificate of No Objection regarding 2nd DIP Amendment	0.10	285.00	28.50
11/27/18	IBAMB	Confer with D. Laskin re: CNO for DIP amendment	0.10	470.00	47.00
11/27/18	BFELD	Finalize for filing CNO re: second DIP amendment	0.10	300.00	30.00
11/27/18	DLASK	File Certificate of No Objection regarding Notice of Filing of Proposed Order Authorizing and Approving Second Amendment to the DIP Credit Agreement	0.30	285.00	85.50
11/28/18	DĹASK	Finalize for filing and coordinate service of Notice of DIP Agreement change pages only	0.40	285.00	114.00
11/28/18	IBAMB	Confer with S. Beach re: terms of Second DIP Amendment	0.10	470.00	47.00
11/28/18	IBAMB	Revise, finalize, and coordinate filing and service of Notice of DIP Comparison	0.20	470.00	94.00
11/28/18	IBAMB	Confer with N. Hunt and D. Fidler re: blackline of DIP Credit Agreement for Second DIP Amendment	0.30	470.00	141.00
11/28/18	IBAMB	Review revised DIP Agreement and modify to create comparison at request of Court	0.40	470.00	188.00
11/28/18	IBAMB	Draft Notice of DIP Comparison	0.20	470.00	94.00
		Total	4.90		2,026.50
Task Cod	e: B004	Schedules & Statements, U.S. Trustee Repo	orts		
<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/01/18	IBAMB	Review and coordinate filing of September MOR	0.40	470.00	188.00
11/01/18	IBAMB	Review earlier correspondence with DSI team to confirm payment of UST fees	0.20	470.00	94.00
11/01/18	DBOWM	Review September MOR and correspondence with I. Bambrick concerning comments on same	0.50	565.00	282.50
11/01/18	DLASK	Finalize for filing and coordinate service of Schedules and SOFAs	0.40	285.00	114.00
11/05/18	IBAMB	Review correspondence from M. Sorenson and B. Feldman re: Monthly Critical Vendor Report	0.10	470.00	47.00
11/12/18	IBAMB	Review October MOR and confer with B. Feldman re: same	0.10	470.00	47.00

Page 9 of 59 Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Woodbridge Group of Companies, LLC Invoice Date: December 17, 2018 Invoice Number: 50000959 Matter Number: 076549.1001 **Description Date Initials Hours** Rate **Amount** 11/13/18 Confer with J. Weiss re: schedule 0.30 470.00 141.00 **IBAMB** amendment and provide J. Weiss re: sample for same Confer with E. Skinner re: status of 0.10470.00 47.00 11/29/18 **IBAMB** October MOR Correspondence with E. Skinner 0.20 565.00 113.00 11/29/18 **DBOWM** regaring October MOR

		Total	2.30		1,073.50
Task Code:	B005	Lease/Executory Contract Issues			
<u>Date</u>	<u>Initials</u>	Description	Hours	<u>Rate</u>	<u>Amount</u>
11/06/18	SBEAC	Call with I. Bambrick re: lease issues	0.10	715.00	71.50
11/07/18	IBAMB	Draft written consent extending 365(d)(4) deadline for lease headquarters	0.30	470.00	141.00
11/07/18	IBAMB	Confer with B. Feldman re: drafting Motion to Assume Headquarters Lease	0.10	470.00	47.00
11/07/18	SBEAC	Email with B. Feldman and I. Bambrick re: Assumption of Headquarters Lease	0.10	715.00	71.50
11/07/18	BFELD	Correspond with I. Bambrick and D. Fidler re: assumption of headquarters lease	0.30	300.00	90.00
11/07/18	IBAMB	Confer with F. Chin, D. Tabibian, N. Troszak, D. Fidler, J. Weiss, W. Holt, S. Beach, and B. Feldman re: assumption of headquarters lease	0.60	470.00	282.00
11/07/18	IBAMB	Confer with F. Chin and D. Fidler re: logistics to extending 365(d)(4) deadline for lease headquarters	0.30	470.00	141.00
11/07/18	IBAMB	Call with J. Weiss re: timeline for Fee Examiner interim fee application review	0.10	470.00	47.00
11/07/18	IBAMB	Review Plan re: assumption of headquarters lease	0.20	470.00	94.00
11/08/18	IBAMB	Confer with B. Feldman re: template for Motion to Assume	0.10	470.00	47.00
11/08/18	SBEAC	Emails with F. Chin and I. Bambrick re: headquarters lease issues (.1); Review documents re: same (.1)	0.20	715.00	143.00
11/08/18	IBAMB	Call with B. Feldman re: lease assumption question	0.10	470.00	47.00
11/08/18	IBAMB	Confer with D. Fidler, J. Weiss, and W. Holt re: lease assumption issue	0.70	470.00	329.00
11/08/18	IBAMB	Confer with F. Chin re: assumption of headquarters lease	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/12/18	IBAMB	Review correspondence from F. Chin and D. Fidler re: status of consensual extension of 365(d)(4) deadline for headquarters lease and confer with B. Feldman re: draft Lease Assumption Motion	0.10	470.00	47.00
11/12/18	IBAMB	Confer with F. Chin and D. Fidler re: meeting with landlord to headquarters and motion to assume lease for same	0.10	470.00	47.00
11/13/18	IBAMB	Confer with J. Weiss re: A. Agam analysis of Debtor leases	0.10	470.00	47.00
11/13/18	IBAMB	Confer with F. Chin and D. Fidler re: written consent extending 365(d)(4) deadline for headquarters	0.20	470.00	94.00
11/14/18	BFELD	Call with I. Bambrick (.3) re: motion to assume lease for Suite 302 (corporate headquarters); revise re: same (.4)	0.70	300.00	210.00
11/14/18	IBAMB	Draft and revise CoC and proposed order for written consent extending 302 assumption	0.50	470.00	235.00
11/14/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Regarding Proposed Order Further Extending the Time Within Which the Debtors Must Assume or Reject a Certain Unexpired Lease of Nonresidential Real Property With the Landlord's Prior Written Consent	0.40	285.00	114.00
11/14/18	DLASK	Prepare Certificate of No Objection for Lease Rejection Motion	0.10	285.00	28.50
11/14/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Lease Rejection Motion	0.30	285.00	85.50
11/14/18	BFELD	Finalize for filing CNO re: lease rejection motion (Suite 203 headquarters)	0.20	300.00	60.00
11/14/18	IBAMB	Finalize and coordinate filing CoC and proposed order for written consent extending 302 assumption	0.10	470.00	47.00
11/14/18	IBAMB	Call with B. Feldman re: revisions to Lease Assumption Motion	0.30	470.00	141.00
11/15/18	IBAMB	Review docket for entry of order extending deadline to assume Headquarters lease	0.10	470.00	47.00
11/16/18	IBAMB	Review docket re: entry of order extending deadline to assume headquarters lease	0.10	470.00	47.00

Invoice Date: December 17, 2018 Woodbridge Group of Companies, LLC 50000959 Invoice Number: 076549.1001 Matter Number: Amount **Description Hours** Rate **Date Initials** 47.00 0.10 470.00 Review correspondence from B. 11/30/18 **IBAMB** Feldman re: November critical vendor report 6.70 2,895.00 **Total** B006 Use, Sale or Lease of Property (363 issues) Task Code: <u>Date</u> **Initials** Description Hours Rate **Amount** Review October critical vendor list re: 0.10 300.00 30.00 11/02/18 **BFELD** circulation under critical vendor order [D.I. 295] 0.10 30.00 Circulate monthly critical vendor 300.00 **BFELD** 11/05/18 summary report re: October payments Finalize and coordinate filing of notice 0.10 470.00 47.00 11/06/18 **IBAMB** of withdrawal of Oakhurst Sale Motion 47.00 11/06/18 **IBAMB** Confer with D. Fidler and B. Feldman 0.10 470.00 re: potential withdrawal of Sale Motion Finalize for filing and coordinate service 0.40 285.00 114.00 11/06/18 **DLASK** of Notice of Withdrawal of Oakhurst Sale Motion 11/06/18 **BFELD** Review notice of withdrawal re: 0.10 300.00 30.00 Oakhurst sale motion 57.00 Draft Notice of Withdrawal of Oakhurst 0.20 285.00 11/06/18 **DLASK** Sale Motion 300.00 30.00 **BFELD** Review docket and finalize for filing 0.1011/07/18 CNO re: 3802 Hollyline sale motion Prepare Certificate of No Objection for 0.10 285.00 28.50 11/07/18 **DLASK** Hollyline Sale Motion Emails with M. Sorenson re: Havenhurst 0.10 300.00 30.00 **BFELD** 11/07/18 sale motion Finalize for filing and coordinate service 0.60 285.00 171.00 11/07/18 DLASK of Certificate of No Objection regarding Hollyline Sale Motion (.3) and prepare order package for the Court (.3) Confer with D. Laskin re: CNO for 0.10 470.00 47.00 11/07/18 **IBAMB** Hollyline Sale Motion Confirm filing of CNO for Hayvenhurst 47.00 11/08/18 **IBAMB** 0.10 470.00 Sale Motion and check on status of sale order for Hollyline 60.00 Finalize for filing CNO re: Hayvenhurst 0.20 300.00 11/08/18 **BFELD**

sale motion

11/08/18

DLASK

Prepare Certificate of No Objection for

Hayvenhurst Sale Motion

28.50

0.10

285.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	<u>Amount</u>
11/08/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Hayvenhurst Sale Motion (.3) and prepare order package for the Court (.3)	0.60	285.00	171.00
11/09/18	IBAMB	Summarize items (largely sale motions) scheduled for 11/20 hearing and check status of same	0.30	470.00	141.00
11/09/18	AKEPH	Discussion with I. Bambrick re: dissolution filings	0.10	460.00	46.00
11/13/18	BFELD	Finalize for filing CNO re: Crystal Canyon sale motion	0.10	300.00	30.00
11/13/18	DLASK	Prepare Certificate of No Objection for Crystal Canyon Sale Motion	0.10	285.00	28.50
11/13/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Crystal Canyon Sale Motion (.4) and prepare order package for the Court (.2)	0.40	285.00	114.00
11/14/18	DLASK	Prepare Certificate of No Objection for State Street Sale Motion	0.10	285.00	28.50
11/14/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding State Street Sale Motion	0.30	285.00	85.50
11/14/18	BFELD	Finalize for filing CNO re: State Street sale motion	0.20	300.00	60.00
11/14/18	IBAMB	Review as-filed Crystal Canyon Sale Order and Exclusivity Extension Order	0.10	470.00	47.00
11/16/18	BFELD	Emails with I. Bambrick and D. Laskin re: sale motions for 805 Nimes and 9212 Nightingale California properties(.2); draft motion to shorten (1.3)	1.50	300.00	450.00
11/16/18	IBAMB	Review info provided by M. Sorenson on Lago Vista and Madelia sales	0.20	470.00	94.00
11/16/18	IBAMB	Confer with D. Fidler, S. Gurvitz, and B. Feldman re: emergency Nimes and Nightingale Sale Motions and motion to shorten for same	0.30	470.00	141.00
11/16/18	IBAMB	Call with D. Fidler re: potential sale on shortened notice	0.20	470.00	94.00
11/17/18	IBAMB	Confer with D. Fidler and S. Gurvitz re: status of potential replacement purchaser for Nimes and Nightingale	0.10	470.00	47.00
11/17/18	IBAMB	Review and revise Motion to Shorten Supplemental Sale Motions	1.60	470.00	752.00
11/17/18	IBAMB	Confer with D. Fidler and B. Feldman re: motion to shorten for Nimes and Nightingale Sale Motions	0.20	470.00	94.00

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 13 of 59

Woodbridge Group of Companies, LLC Invoice Date: December 17, 2018
Invoice Number: 50000959
Matter Number: 076549.1001

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/19/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel regarding extension of time to answer complaint in Starbright adversary	0.40	285.00	114.00
11/20/18	IBAMB	Confer with L. Muchnik. S. Gurvitz, R. Poppiti, and M. Smith re: status of Third Designation Notice and service considerations as to same	0.30	470.00	141.00
11/20/18	IBAMB	Meet with B. Feldman re: status of open items (sale motions, title review, settlement motions) and impact of 11/20 hearing	0.30	470.00	141.00
11/20/18	IBAMB	Confer with D. Laskin re: review of title reports for upcoming sale motions	0.20	470.00	94.00
11/20/18	BFELD	Emails with DLASK re: title review for sale motions (Madelia Ave and Lago Vista properties)	0.10	300.00	30.00
11/20/18	DLASK	Review title report, prepare service for collateral assignees (193) for Lago Sale Motion	3.00	285.00	855.00
11/20/18	BFELD	Meet with I. Bambrick re: status of open items (sale motions, title review, settlement motions) and impact of 11/20 hearing	0.30	300.00	90.00
11/21/18	IBAMB	Review correspondence from D. Laskin re: title review of Lago Viasta	0.20	470.00	94.00
11/21/18	DLASK	Review title report and prepare collateral assignee service for Madella Sale Motion	1.00	285.00	285.00
11/23/18	IBAMB	Confer with D. Fidler re: timing considerations as to proposed Walden Sale Motion	0.10	470.00	47.00
11/24/18	IBAMB	Review correspondence from M. Sorenson, D. Fidler, and S. Gurvitz re: Lago Vista addresses and impact of same on Sale Motion	0.10	470.00	47.00
11/24/18	IBAMB	Review background info re: Walden Sale	0.10	470.00	47.00
11/24/18	IBAMB	Review info provided by M. Sorenson on Beverly Grove Sale Motion	0.10	470.00	47.00
11/25/18	IBAMB	Review correspondence from J. Weiss re: status of Madelia and Beverly Grove Sale Motions	0.10	470.00	47.00
11/26/18	IBAMB	Confer with D. Laskin re: likely sale motions for filing 11/26	0.10	470.00	47.00
11/26/18	IBAMB	Review status of outstanding does for Madelia Sale Motion	0.10	470.00	47.00

Invoice Date:
Invoice Number:
Matter Number:

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/26/18	BFELD	Review sale motions re: 1258 Lago Vista (.8), 4030 Madelia (.8), and Beverly Grove (.8)	2.40	300.00	720.00
11/26/18	IBAMB	Draft Motion to Shorten for Walden Sale Motion	0.60	470.00	282.00
11/26/18	IBAMB	Confer with B. Feldman re: status of Lago Vista Sale Motion	0.10	470.00	47.00
11/26/18	IBAMB	Confer with B. Feldman and D. Laskin re: status of Sale Motions for potential 11/26 filing, finalizing and filing same, and review of title report for same	0.20	470.00	94.00
11/26/18	IBAMB	Confer with M. Sorenson, J. Weiss, and B. Feldman re: revisions to 11/26 Sale Motions	0.20	470.00	94.00
11/26/18	DLASK	Review title report and prepare collateral assignee service list for Beverly Grove Sale Motion	1.60	285.00	456.00
11/26/18	IBAMB	Confer with D. Fidler re: potential Walden sale	0.10	470.00	47.00
11/26/18	IBAMB	Confer with D. Fidler re: status update on potential Walden sale	0.10	470.00	47.00
11/26/18	DLASK	Finalize for filing and coordinate service of Lago Vista Sale Motion and related Declaration	0.70	285.00	199.50
11/26/18	IBAMB	Confer with B. Feldman re: finalizing sale papers for Crystal Canyon lot	0.10	470.00	47.00
11/26/18	IBAMB	Confirm filing and service of Lago Vista Sale Motion	0.10	470.00	47.00
11/27/18	DLASK	Continue preparation of Beverly Grove collateral assignee chart for service of sale motion	2.00	285.00	570.00
11/27/18	DLASK	Finalize for filing and coordinate service of Madelia Sale Motion and related Declaration	0.40	285.00	114.00
11/27/18	IBAMB	Review correspondence from D. Laskin re: results of title analysis for Crystal Canyon sale and B. Sharp re: authorization to file same	0.10	470.00	47.00
11/27/18	IBAMB	Confer with B. Feldman re: finalizing Beverly Sale Motion	0.10	470.00	47.00
11/27/18	IBAMB	Call with B. Feldman re: status of finalizing Beverly and Madelia Sale Motions and filing CNOs for 9019 Motions	0.10	470.00	47.00

Invoice Date:
Invoice Number:
Matter Number:

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/27/18	IBAMB	Call with B. Feldman re: remaining sale motions to file on 11/28 for December omnibus	0.10	470.00	47.00
11/27/18	DLASK	Review Title Report for additional Crystal Canyon property and sale motion	0.10	285.00	28.50
11/27/18	IBAMB	Review Beverly (.1), Madelia (.2), and 376 Crystal Canyon Sale (.1) Motions	0.40	470.00	188.00
11/27/18	DLASK	Finalize for filing and coordinate service of Beverly Grove Sale Motion and related Declaration	0.40	285.00	114.00
11/27/18	IBAMB	Confer with D. Fidler re: requesting Court to enter DIP Amendment Order	0.10	470.00	47.00
11/27/18	DLASK	Finalize for filing and coordinate service of 376 Crystal Canyon Sale Motion and related Declaration	0.50	285.00	142.50
11/27/18	BFELD	Review sale motion re: 376 Crystal Canyon Drive (.4); finalize same for filing (.2); finalize for filing same motions re: 4030 Madelia (.2) and 1312 Beverly Grove (.2); call with I. Bambrick re: status of same (.1)	1.10	300.00	330.00
11/28/18	SBEAC	Review property sale documents and confirmation appeal documents	0.60	715.00	429.00
11/28/18	IBAMB	Review correspondence from M. Sorenson, B. Feldman, and D. Laskin re: finalizing 218 Crystal Canyon Sale Motion and title review for same	0.10	470.00	47.00
11/28/18	DLASK	Review Title Report and prepare service chart for collateral assignees of Golden Bear Sale Motion	0.60	285.00	171.00
11/28/18	IBAMB	Review correspondence from M. Sorenson, B. Feldman, and D. Laskin re: 72 Golden Bear sale and title review for same	0.20	470.00	94.00
11/28/18	BFELD	Review sale motion re: 72 Golden Bear property (.3); finalize same for filing (.1)	0.40	300.00	120.00
11/28/18	DLASK	Finalize for filing and coordinate service of Golden Bear Sale Motion	0.60	285.00	171.00
11/28/18	DLASK	Finalize for filing and coordinate service of 218 Crystal Canyon Sale Motion and related Declaration	0.70	285.00	199.50
11/28/18	IBAMB	Confirm filing and service of 218 Crystal Canyon Sale Motion	0.10	470.00	47.00

Case 17-12560-KJC	Doc 3215-2	Filed 12/20/18	Page 16 of 59
Casc 11 12300 NoC		1 1100 12/20/10	i age to or oo

Invoice Date:

Invoice Number:

			er Number:		
Date	<u>Initials</u>	Description	<u>Hours</u>	Rate	<u>Amount</u>
11/29/18	IBAMB	Confer with B. Feldman re: service issue related to 218 Crystal Canyon Sale Motion	0.20	470.00	94.00
11/29/18	IBAMB	Confirm filing and service of of Golden Bear Sale Motion	0.10	470.00	47.00
11/29/18	IBAMB	Confer with M. Sorenson re: deadline for filing sale motions for January hearing	0.20	470.00	94.00
11/29/18	BFELD	Emails with I. Bambrick and GCG reservice of sale motion for 218 Crystal Canyon	0.40	300.00	120.00
		Total	31.20		10,829.50
Task Code	e: B007	Claims Analysis, Objections and Resolut	ions		
<u>Date</u>	<u>Initials</u>	<u>Description</u>	Hours	Rate	Amount
11/01/18	SBEAC	Call with S. Gerald re: CAT issues	0.10	715.00	71.50
11/05/18	DLASK	Finalize for filing and coordinate service of Walker Settlement Motion	0.50	285.00	142.50
11/05/18	BFELD	Review motion to permit late-filed claims re: alleged elder abuse claims	0.20	300.00	60.00
11/05/18	BFELD	Review settlement motion re: former employee's priority admin claim (.6); finalize same for filing (.2)	0.80	300.00	240.00
11/07/18	DLASK	Finalize for filing and coordinate service of Silva Settlement Motion	0.50	285.00	142.50
11/07/18	DLASK	Prepare Notice for Silva Settlement Motion	0.10	285.00	28.50
11/08/18	DLASK	Prepare Notice for Roberts Settlement Motion	0.10	285.00	28.50
11/08/18	BFELD	Finalize for filing 9019 motion re: Church-Koegel claim resolution	0.50	300.00	150.00
11/09/18	SBEAC	Emails with B. Feldman re: Shapiro settlement with SEC	0.10	715.00	71.50
11/09/18	DLASK	Finalize for filing and coordinate service of Motion for Settlement with Church-Koegel	0.50	285.00	142.50
11/13/18	DLASK	Assist in preparation of deposition notices of parties to motion to file late claims	0.50	285.00	142.50
11/13/18	DLASK	Finalize for filing and coordinate service of 15 Notices of Deposition of claimants motioning to file late claims		285.00	427.50

December 17, 2018 50000959

Invoice Date: Invoice Number: Matter Number:

December 17, 2018 50000959 076549.1001

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	<u>Amount</u>
11/14/18	BFELD	Draft notice of stipulation re: Contributed Claims of Dolecek and Martin	0.70	300.00	210.00
11/15/18	IBAMB	Review Late-Filed Claim Motion	0.20	470.00	94.00
11/15/18	DLASK	Finalize for filing and coordinate service of Stipulation with R. Dolecek regarding Contributed Claims Election	0.40	285.00	114.00
11/15/18	DLASK	Finalize for filing and coordinate service of Stipulation with T. Martin regarding Contributed Claims Election	0.30	285.00	85.50
11/15/18	IBAMB	Confer with R. Pfister and M. Neiburg re: objection to Late-Filed Claims Motion	0.20	470.00	94.00
11/20/18	IBAMB	Call with D. Laskin re: extension of deadline to object to Sarachek Late-Filed Claims Motion	0.10	470.00	47.00
11/20/18	DLASK	Prepare Certificate of No Objection for Walker Settlement Motion	0.10	285.00	28.50
11/20/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for Walker Settlement Motion	0.30	285.00	85.50
11/21/18	DLASK	Prepare Certificate of No Objection for Silva Settlement Motion	0.10	285.00	28.50
11/26/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for Silva Settlement Motion	0.30	285.00	85.50
11/26/18	DLASK	Assemble pleadings, prepare order package for Silva Motion for the Court	0.20	285.00	57.00
11/26/18	IBAMB	Review notices of claim withdrawal filed by Basic Financial Services	0.10	470.00	47.00
11/26/18	BFELD	Finalize for filing CNO re: claims settlement motion with Silva	0.20	300.00	60.00
11/27/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Church Settlement Motion	0.30	285.00	85.50
11/27/18	DLASK	Prepare Certificate of No Objection for Church Settlement Motion	0.10	285.00	28.50
11/27/18	SBEAC	Review tax claim filing issues	0.10	715.00	71.50
11/29/18	IBAMB	Confer with R. Pfister re: adjournment of Sarachek's Late-Filed Claim Motion	0.10	470.00	47.00
11/29/18	DLASK	Assemble relevant pleadings, prepare CNO\Order packages for the Court with respect to Church Settlement Motion	0.20	285.00	57.00
		Total	9.40		2,973.50

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 18 of 59

Woodbridge Group of Companies, LLC Invoice Date: December 17, 2018
Invoice Number: 50000959
Matter Number: 076549.1001

Task Code:	B011	Other Adversary Proceedings			
Date	<u>Initials</u>	<u>Description</u>	Hours	Rate	<u>Amount</u>
11/01/18	MMILA	Revise Wendel default papers in accordance with comments from cocounsel, Klee Tuchin - motion for default (1.8); M. Neiburg declaration (1.0); request for entry of default (.9)	3.70	275.00	1,017.50
11/01/18	MNEIB	Emails with I. Bambrick, D. Laskin, and B. Feldman re: extension to respond in Raines adversary	0.30	555.00	166.50
11/01/18	IBAMB	Review analysis of Comerica protective order as it relates to Kansas subpoena	0.10	470.00	47.00
11/01/18	IBAMB	Confer with M. Neiburg and D. Laskin re: B. Harrison inquiry (adversary)	0.10	470.00	47.00
11/01/18	IBAMB	Review correspondence from S. Kidder re: drafting Starlight 9019 Motion and Answer Extension Stipulation	0.10	470.00	47.00
11/01/18	DLASK	Finalize for filing and coordinate service of Stipulation Extending Time to Answer Complaint in Raines Adversary	0.40	285.00	114.00
11/01/18	BFELD	Review 9019 motion re: Starlight Starbright claims (.3); finalize same for filing (.2); draft stipulation re: extension of time to respond to complaint filed in Starlight Starbright adversary proceeding (.4)	0.90	300.00	270.00
11/01/18	BFELD	Draft stipulation for Raines adversary proceeding re: extension of time to respond to complaint	0.40	300.00	120.00
11/01/18	DLASK	Finalize for filing and coordinate service of Starlight Starbright Settlement Motion	0.50	285.00	142.50
11/01/18	IBAMB	Confer with S. Beach and M. Neiburg re: initial meet and confer calls in broker adversaries	0.10	470.00	47.00
11/01/18	IBAMB	Follow-up re: status of open adversary Answer Deadline Extension Stipulations	0.10	470.00	47.00
11/01/18	SBEAC	Emails with S. Kidder, M. Neiburg and I. Bambrick re: Broker adversaries	0.10	715.00	71.50
11/01/18	MMILA	Draft declaration of CRO Bradley Sharp for Wendel default papers	0.80	275.00	220.00
11/01/18	MNEIB	Emails with I. Bambrick and D. Laskin re: broker adversaries	0.20	555.00	111.00
11/01/18	MNEIB	Emails with S. Kidder and S. Beach re: meet and confer calls in broker adversaries	0.30	555.00	166.50

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	<u>Amount</u>
11/01/18	MMILA	Review and revise Wendel default papers per comments from B. Feldman to send to co-counsel	0.30	275.00	82.50
11/02/18	MNEIB	Emails with S. Kidder and I. Bambrick re: pretrial scheduling conferences	0.20	555.00	111.00
11/02/18	MNEIB	Emails with D. Laskin re: broker defendant adversaries	0.20	555.00	111.00
11/02/18	MNEIB	Emails with M. Joyce and S. Kidder re: pretrial scheduling conference in the Fritz adversary proceeding	0.20	555.00	111.00
11/02/18	MNEIB	Emails with S. Kidder and S. Beach re: PTCs in broker adversaries	0.20	555.00	111.00
11/02/18	MNEIB	Email from S. Kidder re: scheduling conference in Wendel enterprises adversary	0.10	555.00	55.50
11/02/18	IBAMB	Confer with S. Kidder re: scheduling conferences in broker adversaries	0.10	470.00	47.00
11/02/18	SBEAC	Emails with I. Bambrick, M. Neiburg and S. Kidder re: Broker scheduling an adversary issues	0.10	715.00	71.50
11/02/18	BFELD	Finalize for filing stipulation extending time to respond to complaint re: Starlight Starbright adversary proceeding	0.20	300.00	60.00
11/02/18	DLASK	Telephone from R. Burke regarding response to Complaint	0.20	285.00	57.00
11/02/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel regarding Stipulation Extending Time to Answer Complaint in Starlight Adversary	0.40	285.00	114.00
11/02/18	MNEIB	Email from S. Kidder re: scheduling conference in JMI adversary proceeding	0.10	555.00	55.50
11/02/18	MNEIB	Email from S. Kidder re: pretrial scheduling conference in Harrison adversary proceeding	0.10	555.00	55.50
11/02/18	MNEIB	Email from S. Kidder re: scheduling conference in Tavares adversary proceeding	0.10	555.00	55.50
11/02/18	MNEIB	Review draft settlement agreement in Roberts adversary proceeding (.2); email from S. Kidder re: same (.1)	0.30	555.00	166.50
11/02/18	MNEIB	Email from K. Tavares re: scheduling conference	0.10	555.00	55.50
11/04/18	IBAMB	Confer with D. Laskin re: status of adversaries with 9019s filed for November agenda	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	<u>Amount</u>
11/05/18	IBAMB	Review M. Neiburg's comments to checklist for FRCP 26(f) calls with Broker Defendants	0.10	470.00	47.00
11/05/18	IBAMB	Confer with B. Feldman re: Walker 9019 Motion	0.10	470.00	47.00
11/05/18	MNEIB	Emails with S. Kidder re: rule 26(f) conferences	0.40	555.00	222.00
11/05/18	MNEIB	Search for proposed scheduling orders for use in broker adversary proceedings	0.20	555.00	111.00
11/05/18	MNEIB	Review Sarachek amended rule 2019 statement	0.10	555.00	55.50
11/05/18	IBAMB	Review revisions to counter-designation in Sarachek appeal	0.10	470.00	47.00
11/05/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Extending Time to Answer Complaint in Tavares adversary	0.40	285.00	114.00
11/05/18	BFELD	Finalize for filing stipulation re: extending time for Tavares defendant to respond to complaint	0.20	300.00	60.00
11/05/18	MNEIB	Emails with S. Kidder re: scheduling orders	0.20	555.00	111.00
11/05/18	SBEAC	Emails with M. Neiburg re: Owlwood litigation appeal issues and counter designation of record (.1); Review documents re: same (.1)	0.20	715.00	143.00
11/05/18	IBAMB	Review Walker 9019 Motion	0.40	470.00	188.00
11/05/18	MNEIB	Review and revise draft designation of additional items to include in record of Sarachek appeal (.2); emails with S. Kidder re: same (.2)	0.40	555.00	222.00
11/05/18	IBAMB	Review correspondence re: executed Tavares Stipulation and confirm filing of same	0.10	470.00	47.00
11/06/18	IBAMB	Review docket for entry of orders on Tavares and Starlight Stipulations	0.20	470.00	94.00
11/06/18	MNEIB	Research re: mandatory mediation and scheduling orders (.4); emails with S. Kidder re: same (.2)	0.60	555.00	333.00
11/06/18	MNEIB	Emails with S. Kidder re: Klager adversary and potential settlement	0.30	555.00	166.50
11/06/18	MNEIB	Emails with S. Kidder and B. Forman re: 26(f) conference in Raines adversary proceeding	0.20	555.00	111.00
11/06/18	MNEIB	Call with S. Kidder re: pre-trial conferences and scheduling orders	0.20	555.00	111.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/06/18	MNEIB	Emails from M. Wright and S. Kidder re: rule 26(f) conference and adjournment of pre-trial scheduling conference	0.20	555.00	111.00
11/06/18	MNEIB	Emails from S. Kidder re: rule 26(f) conferences	0.30	555.00	166.50
11/06/18	MNEIB	Review filing noteholders' motion to file late POCs	0.40	555.00	222.00
11/06/18	IBAMB	Review financial analysis for Klager adversary call	0.10	470.00	47.00
11/06/18	MNEIB	Emails with S. Kidder re: scheduling orders	0.30	555.00	166.50
11/06/18	MNEIB	Email from W. Mathews re: 26(f) conference in Costa adversary	0.10	555.00	55.50
11/06/18	MNEIB	Call with S. Kidder re: broker defendant adversary proceedings	0.10	555.00	55.50
11/06/18	IBAMB	Review analysis provided by M. Neiburg re: mediation requirements under General Orders	0.10	470.00	47.00
11/07/18	MNEIB	Emails with D. Laskin re: designation of additional items to include in record on appeal in La Rochelle matter	0.30	555.00	166.50
11/07/18	MNEIB	Participate in telephonic meet and confer with counsel to Costa	0.50	555.00	277.50
11/07/18	MNEIB	Prepare for and participate in telephonic rule 26(f) meet and confer in Klager adversary	0.40	555.00	222.00
11/07/18	MNEIB	Emails with S. Kidder re: scheduling order issues for broker adversaries	0.10	555.00	55.50
11/07/18	IBAMB	Prep for (.3) and attend teleconference (.4) with T. Abrams (counsel to Klager), D. Stern, S. Kidder, and M. Neiburg re: adversary meet and confer	0.70	470.00	329.00
11/07/18	MNEIB	Emails with S. Kidder and G. Mathews re: POCs and Costa matter	0.20	555.00	111.00
11/07/18	MNEIB	Review draft COC and extension stipulation in Costa matter (.1); emails with S. Kidder and B. Feldman re: same (.2)	0.30	555.00	166.50
11/07/18	MNEIB	Emails with D. Laskin and I. Bambrick re: answer to Cossu counter-claim	0.20	555.00	111.00
11/07/18	MNEIB	Emails with S. Kidder re: pre-trial scheduling conferences	0.30	555.00	166.50
11/07/18	MNEIB	Emails with S. Kidder and M. Wright re: Correll adversary and meet and confer	0.20	555.00	111.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/07/18	MNEIB	Email from W. Mathews re: meet and confer	0.10	555.00	55.50
11/07/18	MNEIB	Review draft answer to Cossu counter- claim (.2); emails with S. Kidder re: same (.2)	0.40	555.00	222.00
11/07/18	IBAMB	Review correspondence from S. Kidder re: Costa Adversary Extension Stipulation (length of extension and status)	0.10	470.00	47.00
11/07/18	MNEIB	Emails with S. Kidder and B. Feldman re: Christopher T. Wendel enterprises and failure to respond	0.20	555.00	111.00
11/07/18	IBAMB	Confer with B. Feldman re: status of outstanding adversary stipulations	0.10	470.00	47.00
11/07/18	DLASK	Finalize for filing and coordinate service of Counter Designation of Records on Appeal - La Rochelle Appeal	0.40	285.00	114.00
11/07/18	BFELD	Draft CoC and proposed order re: stipulation extending time for Costa defendants to respond to complaint and adjourning pretrial conference	0.70	300.00	210.00
11/07/18	DLASK	Finalize for filing and coordinate service of Answer to Crossclaim in Cossu adversary	0.50	285.00	142.50
11/07/18	IBAMB	Review correspondence re: Costa scheduling stipulation	0.10	470.00	47.00
11/07/18	SBEAC	Emails with M. Neiburg re: broker status conference issues (.1); Review documents re: same (.1)	0.20	715.00	143.00
11/07/18	IBAMB	Confer with B. Feldman re: terms of Silva settlement and 9019 motion for same	0.10	470.00	47.00
11/08/18	MNEIB	Emails with D. Laskin and B. Feldman re: Robert's settlement agreement and 9019 motion	0.20	555.00	111.00
11/08/18	MNEIB	Emails with M. Joyce and S. Kidder re: Fritts adversary and potential settlement	0.20	555.00	111.00
11/08/18	IBAMB	Review correspondence from S. Kidder with adversary defendants re: extension of scheduling hearings	0.20	470.00	94.00
11/08/18	MNEIB	Emails with I. Bambrick re: meet and confer in Harrison adversary	0.10	555.00	55.50
11/08/18	IBAMB	Review correspondence from S. Kidder, M. Neiburg, and B. Feldman re: seeking default judgment in Wendel adversary	0.10	470.00	47.00

Invoice Date:
Invoice Number:
Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/08/18	MNEIB	Discuss adversary issues and case timing with I. Bambrick	0.20	555.00	111.00
11/08/18	IBAMB	Follow-up re: status of adversary extension stipulations	0.10	470.00	47.00
11/08/18	MNEIB	Email from S. Kidder re: meet and confer in Tavares adversary	0.10	555.00	55.50
11/08/18	IBAMB	Review Plan re: settlement of Committee adversary	0.10	470.00	47.00
11/08/18	MNEIB	Emails with D. Laskin and I. Bambrick re: committee adversary	0.40	555.00	222.00
11/08/18	MNEIB	Email from S. Kidder re: Burke adversary and settlement discussions	0.10	555.00	55.50
11/08/18	IBAMB	Confer with M. Neiburg re: attending telephonic meet and confer in Harris adversary	0.10	470.00	47.00
11/08/18	IBAMB	Review M. Neiburg's proposed revisions to Roberts 9019 Settlement Order	0.10	470.00	47.00
11/08/18	MNEIB	Research re: motions for default judgment in connection with Wendel enterprises adversary (.9); emails with B. Feldman re: same (.3)	1.20	555.00	666.00
11/08/18	MNEIB	Emails with D. Laskin and I. Bambrick re: scheduling issues and PTCs	0.30	555.00	166.50
11/08/18	MNEIB	Review Robert's settlement agreement, draft 9019 motion, and proposed order (.4); emails with S. Kidder and B. Feldman re: same (.2)	0.60	555.00	333.00
11/08/18	MNEIB	Call with B. Forman and S. Kidder re: Raines adversary and potential settlement	0.70	555.00	388.50
11/08/18	IBAMB	Call with C. Robinson re: adjourning Committee's adversary in light of confirmation of Plan and other Planrelated items	0.20	470.00	94.00
11/08/18	IBAMB	Confirm filing of Roberts 9019 Motion	0.10	470.00	47.00
11/08/18	MNEIB	Emails with S. Kidder and B. Feldman re: default judgment in Wendel enterprises matter	0.20	555.00	111.00
11/08/18	MNEIB	Review draft COC and proposed extension stipulation for Costa adversary (.1); emails with B. Feldman re: same (.1)	0.20	555.00	111.00
11/08/18	IBAMB	Confer with B. Feldman re: Church- Koegel 9019 Motion and review correspondence from D. Fidler re: same	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/08/18	MNEIB	Email from S. Kidder re: potential settlement of Correll adversary	0.10	555.00	55.50
11/08/18	MNEIB	Call with S. Kidder and D. Stern re: Burke adversary proceeding	0.20	555.00	111.00
11/08/18	DLASK	Finalize for filing and coordinate service of Settlement Motion in Roberts Adversary	0.50	285.00	142.50
11/08/18	BFELD	Draft certification of counsel, proposed order, and stipulation re: extending deadlines in Burke adversary proceeding	0.70	300.00	210.00
11/08/18	IBAMB	Discuss adversary issues and case timing with M. Neiburg	0.20	470.00	94.00
11/08/18	BFELD	Finalize for filing 9019 motion re: Roberts adversary proceeding	0.30	300.00	90.00
11/08/18	BFELD	Research re: service in Wendel adversary proceeding	0.60	300.00	180.00
11/08/18	IBAMB	Confer with M. Neiburg and D. Laskin re: adjournment of Committee adversary	0.40	470.00	188.00
11/08/18	IBAMB	Attend Tavares meet and confer teleconference	0.20	470.00	94.00
11/08/18	MNEIB	Emails with B. Feldman re: non-responding broke defendants	0.20	555.00	111.00
11/08/18	MNEIB	Emails with S. Kidder and T. Walsh re: PTC and 26(f) conference in Cossu adversary	0.20	555.00	111.00
11/08/18	MNEIB	Emails with S. Kidder and B. Feldman re: extension stipulation in Costa adversary	0.20	555.00	111.00
11/08/18	BFELD	Emails with I. Bambrick, M. Neiburg, and D. Laskin re: requesting adjournments of various adversary proceedings	0.20	300.00	60.00
11/08/18	IBAMB	Confer with D. Laskin re: rescheduling of Klager pretrial	0.10	470.00	47.00
11/09/18	MNEIB	Emails from T. Walsh and S. Kidder re: continuance of PTC in Cossu adversary	0.20	555.00	111.00
11/09/18	IBAMB	Confer with M. Milana re: default interest request in adversary	0.10	470.00	47.00
11/09/18	IBAMB	Review correspondence from S. Kidder and D. Laskin re: filing of Saracheck confirmation appeal papers	0.10	470.00	47.00
11/09/18	MNEIB	Email from S. Kidder re: Harrison PTC adjournment	0.10	555.00	55.50
11/09/18	MNEIB	Emails with B. Feldman re: motion for defualt judgment in Wendel Enterprises matter	0.20	555.00	111.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	<u>Description</u>	Hours	Rate	Amount
11/09/18	IBAMB	Review docket and confirm filing of Church-Koegel 9019 Motion	0.10	470.00	47.00
11/09/18	IBAMB	Attend Harris meet and confer teleconference	0.40	470.00	188.00
11/09/18	MNEIB	Email from S. Kidder re: status of Tavares adversary	0.10	555.00	55.50
11/09/18	IBAMB	Review update to GCG website re: Shapiro settlement	0.10	470.00	47.00
11/09/18	IBAMB	Review proposed revisions to Barber 9019 Motion and confirm filing of same	0.20	470.00	94.00
11/09/18	MNEIB	Email from B. Forman re: financial information and adjourning PTC in Raines matter	0.10	555.00	55.50
11/09/18	MNEIB	Participate in telephonic 26(f) conferences	0.40	555.00	222.00
11/09/18	MNEIB	Review LaRochelle motion for stay pending appeal and related motion to shorten	0.30	555.00	166.50
11/09/18	MNEIB	Email from B. Feldman re: SEC settlement issues	0.10	555.00	55.50
11/09/18	BFELD	Meet with M. MIlana re: default judgment papers for Wendel adversary	0.60	300.00	180.00
11/09/18	BFELD	Review settlement motion re: claims at issue in Barber adversary	1.10	300.00	330.00
11/09/18	IBAMB	Confer with D. Laskin re: rescheduling of adversaries	0.20	470.00	94.00
11/09/18	MNEIB	Email from S. Kidder re: adjournment of PTC in Eslava matter	0.10	555.00	55.50
11/09/18	DLASK	Finalize for filing and coordinate service of Settlement Motion in Barber Adversary	0.50	285.00	142.50
11/09/18	MMILA	Draft default pleadings for litigation adversary Christopher T Wendel Enterprises	0.60	275.00	165.00
11/12/18	MNEIB	Review contrarian appeal reply brief	0.40	555.00	222.00
11/12/18	MNEIB	Research re: default judgments in connection with Wendel enterprises action	0.60	555.00	333.00
11/12/18	MNEIB	Emails and discussion with M. Milana re: default judgment against Wendel enterprises	0.30	555.00	166.50
11/12/18	MNEIB	Emails with I. Bambrick re: scheduling conference in Fritts adversary	0.10	555.00	55.50

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	Initials	<u>Description</u>	Hours	Rate	Amount
11/12/18	IBAMB	Confer with D. Laskin re: Sarachek appeal and potential impact of same on Effective Date	0.10	470.00	47.00
11/12/18	IBAMB	Confer with N. Powell and R. Hart re: Contrarian reply brief	0.10	470.00	47.00
11/12/18	IBAMB	Review correspondence from S. Kidder re: execution of Costa scheduling extension stipulation and filing of same	0.10	470.00	47.00
11/12/18	IBAMB	Review Sarachek confirmation appeal papers	0.20	470.00	94.00
11/12/18	IBAMB	Research prejudgment interest rate issue	0.20	470.00	94.00
11/12/18	MMILA	Research re: federal pre-judgment interest rates and calculations (1.0); Email (4x) with M. Neiburg re: same for Wendel default papers (.2)	1.20	275.00	330.00
11/12/18	IBAMB	Review Sarachek Motion to Shorten for Motion for Stay Pending Appeal	0.10	470.00	47.00
11/12/18	IBAMB	Confer with N. Hunt, M. Neiburg, and B. Feldman re: adjourning scheduling conference in broker adversaries	0.10	470.00	47.00
11/12/18	BFELD	Finalize for filing CoC re: extending time for Costa defendants to respond to adversary complaint (.1); emails with I. Bambrick and M. Neiburg re: vacating pretrial conferences (.1); review dockets for adversary proceedings with upcoming pretrial conferences (.4)	0.60	300.00	180.00
11/12/18	MNEIB	Emails with B. Feldman and I. Bambrick re: PTCs in broker adversaries	0.20	555.00	111.00
11/12/18	IBAMB	Confer with N. Hunt, M. Neiburg, and B. Feldman re: adjourning scheduling conference in broker adversaries	0.30	470.00	141.00
11/12/18	MMILA	Draft default pleadings for litigation adversary Christopher T Wendel Enterprises	1.50	275.00	412.50
11/12/18	IBAMB	Confer with M. Neiburg re: responsibility for Wendel meet and confer	0.10	470.00	47.00
11/13/18	DLASK	Review and evaluate incoming pleadings and correspondence for distribution to co-counsel regarding La Rochelle Confirmation Appeal	0.20	285.00	57.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/13/18	BFELD	Review motion for default interest and supporting documents re: Wendel adversary (.3); meet with M. Milana (.3) and M. Neiburg (.1) re: same; meet with I. Bambrick re: various adversary issues (.2)	0.90	300.00	270.00
11/13/18	BFELD	Draft certification of counsel further extending time to respond to complaint re: Correll adversary proceeding	0.80	300.00	240.00
11/13/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Regarding Stipulation Extending Time for Defendant to Respond to Complaint and Adjourning Pretrial Conference - Costa Adversary	0.40	285.00	114.00
11/13/18	MNEIB	Emails with S. Kidder re: 26(f) conference in JMI adversary proceeding	0.20	555.00	111.00
11/13/18	MNEIB	Emails with D. Laskin re: service of deposition notices	0.20	555.00	111.00
11/13/18	MNEIB	Review Sarachek motion to file late POCs	0.30	555.00	166.50
11/13/18	MNEIB	Review and revise draft motion for default judgment and supporting declaration	0.90	555.00	499.50
11/13/18	MNEIB	Emails with S. Kidder re: default judgment and PTC in Wendel enterprises adversary proceeding	0.20	555.00	111.00
11/13/18	MNEIB	Emails and discussion with B. Feldman and M. Milana re: default judgment	0.30	555.00	166.50
11/13/18	MNEIB	Emails from R. Loper and S. Kidder re: response extension and PTC in Correll adversary proceeding	0.20	555.00	111.00
11/13/18	MNEIB	Research re: motions for default judgment	0.60	555.00	333.00
11/13/18	MNEIB	Emails with S. Kidder re: draft motion for default judgment and related papers	0.40	555.00	222.00
11/13/18	MNEIB	Emails with R. Pfister re: deposition notices relating to motion to file late POCs (.3); review deposition notices (.3); emails and confer with B. Feldman and D. Laskin re: same (.3)	0.90	555.00	499.50
11/13/18	MNEIB	Emails with B. Feldman re: draft COC and stipulation in Correll adversary proceeding	0.10	555.00	55.50
11/13/18	MNEIB	Emails with S. Beach re: deposition notices	0.10	555.00	55.50

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/13/18	IBAMB	Follow-up with D. Stern re: shortening on stay pending appeal	0.10	470.00	47.00
11/13/18	IBAMB	Review docket for entry of orders approving Tavares and Starlight scheduling extension stipulations	0.10	470.00	47.00
11/13/18	IBAMB	Research objections to Motions for Stay Pending Appeal	0.70	470.00	329.00
11/13/18	MMILA	Review redline and revision comments from B. Feldman re: Wendel default papers	0.40	275.00	110.00
11/13/18	IBAMB	Meet with B. Feldman re: adversary settlements and adjournments	0.20	470.00	94.00
11/13/18	IBAMB	Confer with D. Laskin re: service considerations as to deposition notices	0.20	470.00	94.00
11/13/18	IBAMB	Call S. Kidder re: Wendel meet and confer teleconference	0.10	470.00	47.00
11/13/18	IBAMB	Confer with C. Robinson and S. Beach re: status of Sarachek Pro Hac Revocation Motion	0.20	470.00	94.00
11/13/18	SBEAC	Email with D. Stern, D. Fidler, and I. Bambrick re: stay pending appeal	0.10	715.00	71.50
11/13/18	SBEAC	Email with D. Laskin re: La Rochelle - Confirmation Appeal - Docket Update (.1); Review same (.2)	0.30	715.00	214.50
11/13/18	MMILA	Confer with B. Feldman re: pre- judgment interest rate calculation for default papers	0.30	275.00	82.50
11/13/18	MMILA	Call with M. Neiburg and B. Feldman re: Wendel default papers revisions and interest rate calculations	0.20	275.00	55.00
11/13/18	IBAMB	Meet with E. Norman re: Contrarian appeal and potential outcome of same in light of confirmation of Plan	0.30	470.00	141.00
11/13/18	IBAMB	Call with S. Beach re: consent to shortening Motion for Stay Pending Appeal	0.10	470.00	47.00
11/13/18	IBAMB	Review correspondence from S. Kidder and M. Neiburg re: seeking default interest for adversary	0.10	470.00	47.00
11/13/18	IBAMB	Review latest correspondence re: status of execution of Raines and Burge scheduling stipulations	0.10	470.00	47.00
11/13/18	IBAMB	Review correspondence from S. Kidder and B. Feldman re: stipulation extending answer deadline for Correll adversary	0.10	470.00	47.00

Invoice Date:
Invoice Number:
Matter Number:

<u>Date</u>	<u>Initials</u>	<u>Description</u>	Hours	Rate	Amount
11/13/18	IBAMB	Review correspondence from R. Pfister and M. Neiburg re: Sarachek deposition notices	0.10	470.00	47.00
11/14/18	BFELD	Finalize for filing certification of counsel further extending time to respond to complaint re: Correll adversary proceeding	0.20	300.00	60.00
11/14/18	BFELD	Confer with M. Milana re: default papers for C. Wendel adversary proceeding (.4); revise same (1.7)	2.10	300.00	630.00
11/14/18	IBAMB	Confer with S. Kidder and D. Laskin restatus of adjournment of adversaries	0.40	470.00	188.00
11/14/18	DLASK	Finalize for filing and coordinate service of Burke Settlement Motion	0.50	285.00	142.50
11/14/18	BFELD	Finalize for filing 9019 motion re: R. Burke adversary proceeding	0.30	300.00	90.00
11/14/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel in Correll Adversary further extending time to answer Complaint	0.40	285.00	114.00
11/14/18	IBAMB	Review Burke Settlement Motion	0.10	470.00	47.00
11/14/18	MNEIB	Email from D. Laskin re: Contrarian appeal	0.10	555.00	55.50
11/14/18	MNEIB	Revise draft motion for default judgment, request to clerk for entry of default, and supporting declarations	1.40	555.00	777.00
11/14/18	MNEIB	Emails with B. Feldman and M. Milana re: motion for default judgment against Wendel enterprises	0.20	555.00	111.00
11/14/18	MNEIB	Emails with D. Laskin and I. Bambrick re: adjournment of initial scheduling conferences in broker adversaries	0.20	555.00	111.00
11/14/18	MNEIB	Emails with I. Bambrick and S. Kidder re: scheduling conferences in broker adversaries	0.20	555.00	111.00
11/14/18	MNEIB	Emails with C. Falgowski and S. Kidder re: draft stipulation in Correll adversary proceeding	0.20	555.00	111.00
11/14/18	MNEIB	Emails and call with S. Kidder re: scheduling conferences in broker adversaries	0.30	555.00	166.50
11/14/18	MNEIB	Emails with M. Milana re: draft default judgment papers in Wendel enterprises matter	0.10	555.00	55.50
11/14/18	MNEIB	Emails with P. Luis re: Wendel enterprises service issues	0.10	555.00	55.50

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/14/18	MNEIB	Emails from T. Abrams and S. Kidder re: financial information from Klager	0.10	555.00	55.50
11/14/18	MNEIB	Emails with D. Stern and S. Beach re: issues relating to Sarachek motion for stay pending appeal	0.20	555.00	111.00
11/14/18	SBEAC	Email with D. Stern, I. Bambrick, M. Neiburg, and R. Pfister re: stay pending appeal (.1); Review documents re: same (.5)	0.60	715.00	429.00
11/14/18	IBAMB	Review order shortening notice on Motion for Stay Pending Appeal	0.10	470.00	47.00
11/14/18	IBAMB	Review and revise Lease Assumption Motion	3.30	470.00	1,551.00
11/15/18	MMILA	Review and revise Wendel default papers per final comments and track changes from co-counsel	1.30	275.00	357.50
11/15/18	MFRAT	Download data from Winston & Strawn counsel, prepare data for attorney review and sent data via ftp site to Klee Tuchin	2.00	175.00	350.00
11/15/18	MNEIB	Review and revise draft default judgment motion and related papers (.6); emails with M. Milana re: same (.2)	0.80	555.00	444.00
11/15/18	MNEIB	Emails with I. Bambrick and B. Feldman re: potential settlement in Bellflower action	0.20	555.00	111.00
11/15/18	BFELD	Draft notice of dismissal re: Thomas adversary	0.20	300.00	60.00
11/15/18	MNEIB	Emails with R. Pfister and I. Bambrick re: late-field claim motion	0.20	555.00	111.00
11/15/18	BFELD	Review complaints re: class 6 claimant adversaries	0.20	300.00	60.00
11/15/18	BFELD	Review default papers re: Wendel adversary proceeding	0.60	300.00	180.00
11/15/18	DLASK	Finalize for filing and coordinate service of Notice of Dismissal of J. Thomas Adversary	0.40	285.00	114.00
11/15/18	BWALT	Submit litigation support request November 15 production of Comerica documents	0.10	285.00	28.50
11/15/18	MNEIB	Emails with I. Bambrick re: deposition notices	0.20	555.00	111.00
11/15/18	MNEIB	Emails with S. Kidder and B. Feldman re: dismissal of Thomas adversary proceeding	0.20	555.00	111.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/15/18	BFELD	Status call with I. Bambrick re: deadlines in various adversary actions	0.10	300.00	30.00
11/15/18	DLASK	Prepare Motions for Pro Hac Vice for R. Pfister and D. Stern for Confirmation Appeal	0.30	285.00	85.50
11/15/18	DLASK	Finalize for filing and coordinate service of Pro Hac Motions for R. Pfister and D. Stern in La Rochelle Confirmation Appeal	0.50	285.00	142.50
11/15/18	IBAMB	Review draft Class 6 complaint	0.10	470.00	47.00
11/15/18	IBAMB	Review docket for order further extending Correll deadline to file answer	0.10	470.00	47.00
11/15/18	IBAMB	Confer (multiple) with R. Pfister, M. Neiburg, and B. Feldman re: Bellflower/50 West 9019 Motion	0.40	470.00	188.00
11/15/18	IBAMB	Call with B. Feldman re: status of outstanding adversary answer extension stipulations	0.10	470.00	47.00
11/15/18	MNEIB	Emails with S. Kidder, B. Feldman, D. Laskin, and I. Bambrick re: complaints against class 6 claimants	0.40	555.00	222.00
11/15/18	IBAMB	Review docket for filing of notice of dismissal of Thomas adversary	0.10	470.00	47.00
11/15/18	MMILA	Review 16 complaints to be filed sent by co-counsel for proper exhibits, attachments and references within complaint	0.60	275.00	165.00
11/15/18	MNEIB	Review complaints against class 6 claimants and corresponding exhibits	1.10	555.00	610.50
11/16/18	MNEIB	Emails with I. Bambrick and D. Laskin re: complaints against class 6 claimants	0.30	555.00	166.50
11/16/18	MNEIB	Emails and call with S. Kidder, B. Feldman, and D. Laskin re: complaints against class 6 claimants	0.40	555.00	222.00
11/16/18	MNEIB	Review complaints against class 6 claimants	0.40	555.00	222.00
11/16/18	MNEIB	Emails with S. Beach and I. Bambrick re: proposed stipulation with class 6 claimants	0.20	555.00	111.00
11/16/18	DLASK	Prepare Summons, ADR and certificates of service for 17 Class 6 Complaints	2.00	285.00	570.00
11/16/18	BFELD	Finalize for filing complaints re: Class 6 claimants (.2); call with S. Kidder, M. Neiburg, and D. Laskin re: same (.2)	0.40	300.00	120.00
11/16/18	MNEIB	Emails with D. Laskin and B. Feldman re: complaints	0.20	555.00	111.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/16/18	BWALT	Confer with M. Fratticci re Comerica production documents	0.20	285.00	57.00
11/16/18	DLASK	File 17 Class 6 Complaints	2.00	285.00	570.00
11/16/18	SBEAC	Email with M. Neiburg re: Complaints Against Class 6 Claimants (.1); Review and revise documents re: same (.5)	0.60	715.00	429.00
11/16/18	IBAMB	Confer with R. Pfister and B. Feldman re: drafting 9019 Motion for Bellflower settlement	0.10	470.00	47.00
11/16/18	DLASK	Assemble and tab exhibits for 17 Class 6 Complaints	1.50	285.00	427.50
11/16/18	MNEIB	Emails with W. Holt and I. Bambrick re: draft opposition to motion for stay pending appeal	0.20	555.00	111.00
11/16/18	IBAMB	Confer with W. Holt, E. Morton, and M. Neiburg re: objection to Sarachek Motion for Stay Pending Appeal	0.10	470.00	47.00
11/16/18	IBAMB	Call with D. Laskin re: timing of filing Class 6 adversary complaints and logistics related to same	0.20	470.00	94.00
11/16/18	IBAMB	Review Class 6 complaint	0.50	470.00	235.00
11/16/18	IBAMB	Review filed Class 6 Complaints and confer with D. Laskin re: status of same	0.30	470.00	141.00
11/16/18	MNEIB	Email from D. Laskin re: PTC in Fritts adversary	0.10	555.00	55.50
11/16/18	DLASK	Prepare contact database for service of 17 Class 6 Complaints	0.50	285.00	142.50
11/16/18	BFELD	Finalize for filing CNO re: Starlight Starbright 9019 motion	0.20	300.00	60.00
11/16/18	MNEIB	Review Fritts answer to complaint	0.20	555.00	111.00
11/19/18	MMILA	Prepare Wendel Default papers with final comments/edits, attach dates and signatures, and create versions formatted for filing (.8); revise Motion for Default Judgment to reflect Clerk entry of the Order for Entry of Default (.5)	1.30	275.00	357.50
11/19/18	MNEIB	Email from S. Kidder re: Klager adversary proceeding	0.10	555.00	55.50
11/19/18	IBAMB	Confer with B. Feldman re: draft of Bellflower 9019 Motion	0.10	470.00	47.00
11/19/18	IBAMB	Review and provide comments to Opposition to Sarachek Stay Pending Appeal Motion and declaration in support thereof	1.60	470.00	752.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/19/18	IBAMB	Review correspondence from S. Kidder re: Sarachek Class 6 complaints, email of courtesy copy of same, and confer with D. Laskin re: same	0.20	470.00	94.00
11/19/18	IBAMB	Review and provide comments to Opposition to Sarachek Stay Pending Appeal Motion and declaration in support thereof	0.80	470.00	376.00
11/19/18	MNEIB	Emails with B. Feldman and D. Laskin re: complaints against class 6 claimants	0.20	555.00	111.00
11/19/18	MNEIB	Emails with S. Kidder re: service of complaints against class 6 claimants	0.20	555.00	111.00
11/19/18	IBAMB	Review Regner Stipulation and confer with S. Kidder re: same	0.30	470.00	141.00
11/19/18	IBAMB	Confer with D. Laskin re: filing Opposition to Sarachek Stay Pending Appeal Motion	0.20	470.00	94.00
11/19/18	IBAMB	Call with B. Feldman re: drafting Motion to Exceed for Sarachek Reply	0.10	470.00	47.00
11/19/18	MNEIB	Emails with S. Kidder and M. Milana re: motion for default judgment against Wendel enterprises	0.20	555.00	111.00
11/19/18	MNEIB	Emails with D. Laskin and B. Feldman re: motion for default judgment	0.30	555.00	166.50
11/19/18	MNEIB	Review default judgment motion and related papers	0.40	555.00	222.00
11/19/18	MNEIB	Review opposition to Sarachek motion for stay pending appeal and supporting declaration (.6); emails with W. Holt and I. Bambrick re: same (.3)	0.90	555.00	499.50
11/19/18	DLASK	Finalize for filing and coordinate service of Request for Entry of Default and Motion for Default Judgment in C. Wendel Adversary	1.00	285.00	285.00
11/19/18	DLASK	File 17 Summons for 17 Class 6 Complaints	1.70	285.00	484.50
11/19/18	DLASK	Update and finalize summons, coordinate service of 17 Class 6 Claimant Complaints, Summons, ADR notices, counsel letters and proposed stipulations	3.40	285.00	969.00
11/19/18	MNEIB	Emails with S. Kidder, D. Laskin, and M. Milana re: clerk's entry of default against Wendel enterprises	0.30	555.00	166.50
11/19/18	IBAMB	Review Harrison Stipulation and prepare same for B. Sharp	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/19/18	IBAMB	Calls with C. Robinson, J. Edmonson, and W. Holt re: committee joinders to Debtors' Opposition to Sarachek Stay Pending Appeal Motion	0.30	470.00	141.00
11/20/18	SBEAC	Email with I. Bambrick re: Sarachek (.1); Review appeal documents re: Lise La Rochelle and plan confirmation (.5)	0.60	715.00	429.00
11/20/18	IBAMB	Review letter from J. Doyle re: Doyle adversary and settlement of same	0.20	470.00	94.00
11/20/18	IBAMB	Review correspondence from S. Kidder and B. Feldman re: draft of Harrison 9019 Motion and confer with B. Feldman re: same	0.10	470.00	47.00
11/20/18	MNEIB	Email from S. Kidder re: Doyle living trust adversary	0.10	555.00	55.50
11/20/18	IBAMB	Provide update to S. Beach, E. Morton, M. Neiburg, and B. Feldman re: results of hearing on Sarachek Stay Motion	0.20	470.00	94.00
11/20/18	MNEIB	Emails from B. Rich and D. Sterner re: pretrial conference in Bellflower action	0.20	555.00	111.00
11/20/18	MNEIB	Email from I. Bambrick re: hearing concerning Sarachek motion for stay pending appeal	0.10	555.00	55.50
11/20/18	BFELD	Review 9019 motion re: settlement of Harrison adversary proceeding	0.50	300.00	150.00
11/20/18	BFELD	Confer with DLASK and I. Bambrick re: documents related to Starlight Starbright settlement motion (.2); finalize CNO for filing re: same (.2)	0.40	300.00	120.00
11/20/18	DLASK	Prepare Certificate of No Objection for Starlight Adversary Settlement Motion	0.10	285.00	28.50
11/20/18	DLASK	Finalize for filing and coordinate service of Harrison Settlement Motion	0.40	285.00	114.00
11/20/18	DLASK	File Certificate of No Objection to Starbright Settlement Motion	0.30	285.00	85.50
11/20/18	MNEIB	Emails with S. Kidder, I. Bambrick, and B. Walters re: letter from class 6 claimants (.2); review letter (.1)	0.30	555.00	166.50
11/21/18	IBAMB	Draft order denying Sarachek Motion for Stay Pending Appeal	0.30	470.00	141.00
11/21/18	IBAMB	Revise order denying Sarachek Motion for Stay Pending Appeal	0.10	470.00	47.00
11/21/18	BFELD	Finalize for filing notice of withdrawal re: inadvertent filing in Starlight Starbright adversary	0.10	300.00	30.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/21/18	IBAMB	Confer with J. Sarachek, J. Gibson, J. Miller, and F. Rosner re: order denying Motion for Stay Pending Appeal	0.20	470.00	94.00
11/21/18	IBAMB	Review 11/20 transcript	0.50	470.00	235.00
11/21/18	MNEIB	Email from D. Laskin re: order approving 9019 settlement with starlight	0.10	555.00	55.50
11/21/18	MNEIB	Emails with S. Kidder and I. Bambrick re: stipulations with class 6 claimants	0.20	555.00	111.00
11/21/18	DLASK	Assemble pleadings, prepare order package regarding Starlight Settlement Motion for the Court	0.20	285.00	57.00
11/21/18	MNEIB	Email from D. Stermer re: pre-trial conference in Bellflower action	0.10	555.00	55.50
11/21/18	IBAMB	Confer with D. Stern re: drafting order denying Sarachek Motion for Stay Pending Appeal	0.10	470.00	47.00
11/26/18	BFELD	Emails with S. Kidder re: notice of dismissal for Durr adversary proceeding	0.10	300.00	30.00
11/26/18	MNEIB	Review draft notice of dismissal of Dunn adversary (.1); emails with S. Kidder and B. Feldman re: same (.2)	0.30	555.00	166.50
11/26/18	IBAMB	Review correspondence from S. Kidder and B. Feldman re: sign-off of Committees on Lasher Stip and notice for same	0.10	470.00	47.00
11/26/18	IBAMB	Review correspondence from M. Neiburg and B. Feldman re: Doyle Reclass Stip and related CoC	0.10	470.00	47.00
11/26/18	IBAMB	Call with B. Feldman re: considerations as to Laster Contributed Claims Stipulation	0.20	470.00	94.00
11/26/18	MNEIB	Emails with S. Kidder, B. Feldman, and I. Bambrick re: class 6 reclassification stipulation	0.30	555.00	166.50
11/26/18	MNEIB	Emails with B. Feldman and S. Kidder re: Eslava response deadline	0.20	555.00	111.00
11/26/18	IBAMB	Confer with N. Hunt re: correction to mistaken docket entry	0.20	470.00	94.00
11/26/18	IBAMB	Confer with D. Laskin re: docketing issue with pretrial notice in Cox adversary	0.10	470.00	47.00
11/26/18	SBEAC	Email with D. Laskin re: contract and litigation issues (.1); Review documents re: broker and confirmation litigation issues (.5)	0.60	715.00	429.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/26/18	IBAMB	Review correspondence from J. Miller and confer with D. Stern re: order denying motion for stay pending appeal	0.10	470.00	47.00
11/26/18	BFELD	Draft certification of counsel re: stipulation regarding claim reclassification for Doyle adversary proceeding	1.00	300.00	300.00
11/26/18	IBAMB	Review correspondence from S. Kidder re: lack of responses to Silva 9019 Motion	0.10	470.00	47.00
11/26/18	IBAMB	Confer with M. Neiburg re: stips reclassifying Class 6 claims	0.10	470.00	47.00
11/27/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Roberts Settlement Motion	0.30	285.00	85.50
11/27/18	IBAMB	Review correspondence from S. Kidder and M. Neiburg re: amended deponotices (originally filed 11/13) and rescheduled depositions; confer with M. Neiburg re: same; Confirm notices filed	0.20	470.00	94.00
11/27/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Barber Settlement Motion	0.30	285.00	85.50
11/27/18	IBAMB	Review and revise Order Denying Request for Stay Pending Appeal	0.20	470.00	94.00
11/27/18	DLASK	Prepare Notice of Dismissal of Durr Adversary	0.20	285.00	57.00
11/27/18	IBAMB	Draft CoC for Order Denying Request for Stay Pending Appeal	0.30	470.00	141.00
11/27/18	DLASK	Prepare Certificate of No Objection for Roberts Settlement Motion	0.20	285.00	57.00
11/27/18	DLASK	Finalize for filing and coordinate service of Notice of Dismissal of Durr Adversary	0.30	285.00	85.50
11/27/18	IBAMB	Review entry of Silva 9019 order	0.10	470.00	47.00
11/27/18	IBAMB	Review correspondence from S. Kidder re: stipulation resolving Regner net unit claim dispute	0.10	470.00	47.00
11/27/18	DLASK	Prepare Certificate of No Objection for Burke Settlement Motion	0.20	285.00	57.00
11/27/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Regarding Stipulation Regarding Election to Reclassify as Class 3 Claim	0.40	285.00	114.00

Invoice Date:
Invoice Number:
Matter Number:

<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/27/18	IBAMB	Review correspondence from S. Kidder re: settlement of Lennerts class 6 issues and filing of Lennertz Reclass Stipulation under CoC	0.10	470.00	47.00
11/27/18	DLASK	Prepare Certificate of No Objection for Barber Settlement Motion	0.20	285.00	57.00
11/27/18	MNEIB	Review amended deposition notices (.2); emails with S. Kidder and R. Pfister re: same (.2); emails with D. Laskin and B. Feldman re: amended deposition notices (.2)	0.60	555.00	333.00
11/27/18	IBAMB	Confer with D. Laskin re: filing CoC for Order Denying Request for Stay Pending Appeal and providing same to chambers	0.20	470.00	94.00
11/27/18	MNEIB	Review Lennartz class 6 reclassification stipulation (.1); emails with B. Feldman and S. Kidder re: stipulation and COC	0.30	555.00	166.50
11/27/18	MNEIB	Email from S. Kidder re: status of Tavares adversary	0.10	555.00	55.50
11/27/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Regarding Order Denying the Motion of Lise La Rochelle and Other Noteholders for a Stay Pending Appeal	0.40	285.00	114.00
11/27/18	DLASK	Finalize for filing and coordinate service of Amended Deposition Notices of A. Oldham; C. Whitledge; J. Sarachek; K. Paddock Trustee; and S. Goldman (.2 each)	1.00	285.00	285.00
11/28/18	SBEAC	Review confirmation opinion and appeal issues	0.20	715.00	143.00
11/28/18	DLASK	Finalize for filing and coordinate service of Certification of Counsel Regarding Stipulation Regarding Election to Reclassify as Class 3 Claim - Lennartz Adversary	0.40	285.00	114.00
11/28/18	IBAMB	Review correspondence from S. Kidder and B. Feldman re: status of Lennartz Plan Reclass Stipulation	0.10	470.00	47.00
11/28/18	MNEIB	Emails with B. Feldman and D. Laskin re: Lennartz reclassification stipulation	0.20	555.00	111.00
11/29/18	IBAMB	Review correspondence from S. Kidder re: lack of responses to Burke Settlement Motion	0.20	470.00	94.00

	Cas	se 17-12560-KJC Doc 3215-	2 Filed 1	2/20/18	Page 38 of	59
Woodbridge	Group of Co	mpanies, LLC	Invoice D Invoice N Matter Nu	umber:	Decei	mber 17, 2018 50000959 076549.1001
<u>Date</u>	<u>Initials</u>	Description		Hours	Rate	Amount
11/29/18	IBAMB	Confer with B. Feldman re: requ to dismiss closed adversaries and background as to same		0.20	470.00	94.00
11/29/18	IBAMB	Review as-entered Order Denyin Pending Appeal	ng Stay	0.10	470.00	47.00
11/29/18	DLASK	Finalize for filing and coordinate of Certificate of No Objection in Adversary for Settlement Motion	Burke	0.40	285.00	114.00
11/29/18	DLASK	Assemble relevant pleadings, pro CNO\Order packages for the Co respect to Settlements Motions i Roberts Adversary (.2) and Barb Adversary (.2)	urt with n	0.40	285.00	114.00
11/29/18	DLASK	Prepare Certificate of No Object Settlement Motion in Burke Adv		0.10	285.00	28.50
11/29/18	BFELD	Finalize for filing CNO re: Burk settlement motion in resolution of in adversary proceeding		0.10	300.00	30.00
11/29/18	IBAMB	Call with B. Feldman re: status or reclass stips and orders on vario adversary extensions	_	0.10	470.00	47.00
11/30/18	IBAMB	Confer with D. Fidler re: hearing Committee's Motion to Revoke Sarachek's Pro Hac Vice Applic		0.20	470.00	94.00
11/30/18	DLASK	Assemble relevant pleadings, pr CNO\Order packages for the Co respect to Settlement Motion in Adversary	ourt with	0.20	285.00	57.00
11/30/18	BFELD	Emails with S. Kidder re: filing 9019 motion	Harrison	0.10	300.00	30.00
11/30/18	MNEIB	Emails with S. Kidder and B. Fore: harrison 9019 motion and resissues		0.30	555.00	166.50
	·	То	tal	118.60		49,660.50
Task Code	B012	Plan and Disclosure Statement				
<u>Date</u>	<u>Initials</u>	Description		<u>Hours</u>	Rate	Amount
11/01/18	IBAMB	Confer with T. Fox and B. Feld requested UST subcon Debtor a		0.20	470.00	94.00
11/01/18	BFELD	Prepare chart for UST re: subst consolidated cases under Plan	antively	0.70	300.00	210.00
11/02/18	IBAMB	Call R. Fisher re: Plan distribut questions	ion	0.20	470.00	94.00
11/05/18	IBAMB	Call with T. Casey (Drinker Bionoteholder election question	ddle) re:	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	<u>Description</u>	Hours	Rate	Amount
11/07/18	IBAMB	Review Plan and Confirmation Order re: two-tier subcon and review chart providing analysis by debtor of same	0.20	470.00	94.00
11/07/18	SBEAC	Email with D. Laskin re: Woodbridge - Confirmation Order	0.10	715.00	71.50
11/08/18	SBEAC	Emails with D. Laskin re: confirmation and effective date issues	0.10	715.00	71.50
11/09/18	DLASK	Telephone from M. Miranda regarding status of balloting	0.20	285.00	57.00
11/13/18	DLASK	Prepare Certificate of No Objection for Motion Extending Exclusivity	0.10	285.00	28.50
11/13/18	MNEIB	Review LaRochelle notice of appeal	0.10	555.00	55.50
11/13/18	MNEIB	Review paperless order referring LaRochelle appeal to mediation	0.10	555.00	55.50
11/13/18	MNEIB	Emails with D. Stern re: LaRochelle appeal	0.10	555.00	55.50
11/13/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Motion Extending Exclusivity (.4), and prepare order package for the Court (.1)	0.50	285.00	142.50
11/13/18	MMILA	Research re: subordinated debt memo subsection addressing the treatment and classification of unimpaired claims in Delaware (1.9); Revise subordinated debt memo to reflect research findings re: same (.3)	2.20	275.00	605.00
11/13/18	SBEAC	Call with D. Fidler re: confirmation appeal	0.10	715.00	71.50
11/13/18	MMILA	Confer with I. Bambrick and S. Reil re: impaired/unimpaired creditor analysis for subordinated debt research memo (.2); Confer with T. Pakrouh re: same (.2)	0.40	275.00	110.00
11/13/18	SBEAC	Email with Court, D. Stern, and D. Fidler re: Order on Motion to Shorten Time on stay pending appeal	0.10	715.00	71.50
11/14/18	IBAMB	Review and revise notice of Contributing Claimant Election Stipulation	0.40	470.00	188.00
11/14/18	IBAMB	Confer with D. Fidler, S. Kidder, and B. Feldman re: Contributing Claimant Stipulations	0.20	470.00	94.00
11/15/18	BFELD	Finalize for filing notices of stipulation re: contributing claimants	0.10	300.00	30.00
11/15/18	IBAMB	Review revisions to Notice of Filing Contributing Claim Election Stipulation	0.10	470.00	47.00

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	<u>Hours</u>	Rate	<u>Amount</u>
11/18/18	BFELD	Review opposition to motion for stay pending appeal re: confirmation order	0.70	300.00	210.00
11/18/18	SBEAC	Emails with B. Feldman and I. Bambrick re: opposition, declaration and exhibits re: stay of confirmation order pending appeal (.1); Review and revise documents re: same (1.2)	1.30	715.00	929.50
11/19/18	DLASK	Finalize for filing and coordinate service of Objection to Motion for Stay Pending Appeal of the Confirmation Order	0.40	285.00	114.00
11/20/18	SBEAC	Review creditor requests to transfer classifications under plan (.2); Emails with I. Bambrick re: same (.1); Review plan and adversaries re: same (.5)	0.80	715.00	572.00
11/20/18	EMORT	Correspondence with I. Bambrick re: status of confirmation stay motion	0.20	750.00	150.00
11/26/18	IBAMB	Confer with S. Gurvitz re: status of final version of Liquidation Trust Agreement	0.20	470.00	94.00
11/26/18	BFELD	Call with I. Bambrick re: procedural posture for filing B. Lasher contributed claims election stipulation (.2); finalize for filing stipulation re: same (.2)	0.40	300.00	120.00
11/27/18	BFELD	Draft certification of counsel re: Lennartz stipulation for reclassification of claim	0.40	300.00	120.00
11/27/18	BFELD	Finalize for filing B. Lasher contributed claims election stipulation	0.10	300.00	30.00
11/27/18	BFELD	Finalize for filing CNOs re: 9019 motions for Church-Koegel, Roberts, and Barber	0.10	300.00	30.00
11/27/18	BFELD	Finalize for filing Doyle stipulation re: reclassification of claim	0.10	300.00	30.00
11/29/18	IBAMB	Confer with B. Sharp re: status of paying plan teleconference expenses	0.10	470.00	47.00
		Total	11.10		4,740.00
Task Cod	le: B013	Creditor Inquiries			
<u>Date</u>	<u>Initials</u>	Description	Hours	Rate	Amount
11/07/18	BFELD	Finalize for filing 9019 motion re: General Associates and Silva claims	0.50	300.00	150.00
11/12/18	IBAMB	Confer with E. Kosmowski (counsel to creditor) re: estimated Effective Date of Plan	0.10	470.00	47.00
11/13/18	DLASK	Telephone from S. Anderson regarding S. Larson claims	0.20	285.00	57.00

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 41 of 59

Woodbridge	e Group of Cor	In	voice Date: voice Number: latter Number:	Decer	mber 17, 2018 50000959 076549.1001	
Data	<u>Initials</u>	Description	Hours	Rate	<u>Amount</u>	
<u>Date</u> 11/13/18	IBAMB	Confer with D. Laskin re: inquiry from trustee to S. Larson		470.00	47.00	
11/16/18	DLASK	Telephone from J. McCarey regarding status of claims	g 0.20	285.00	57.00	
11/29/18	IBAMB	Call with D. Robinson (investor) re: confirmation of Plan and distributions thereunder	0.10	470.00	47.00	
11/30/18	DLASK	Telephone from R. Vonesh regarding case status	0.20	285.00	57.00	
		Total	1.40		462.00	
Task Code	e: B014	General Corporate Matters				
Date	Initials	Description	Hours	Rate	Amount	
11/01/18	IBAMB	Confer with J. Wells re: invoices for Navigant for August on	0.10	470.00	47.00	
11/01/18	IBAMB	Review docket for orders entered sin 9/27 implicating Debtor operations from summary of same		470.00	47.00	
11/01/18	IBAMB	Confer with E. Skinner re: status of closing Wells Fargo accounts	0.10	470.00	47.00	
11/01/18	IBAMB	Confer with S. Beach re: call from R Fisher concerning Plan	. 0.10	470.00	47.00	
11/01/18	IBAMB	Email with J. Wells re: Navigant pos July invoices	st- 0.10	470.00	47.00	
11/02/18	IBAMB	Confer with E. Skinner re: closing V Fargo accounts	Vells 0.10	470.00	47.00	
11/08/18	IBAMB	Review good standing analysis prov by KTBS and confer with K. Luong same	ided 0.20 o re:	470.00	94.00	
11/08/18	IBAMB	Confer with R. Smith, C. Grear, and Kephart re: corporate dissolutions	A. 0.10	470.00	47.00	
11/08/18	IBAMB	Confer with A. Kephart re: corporat dissolutions	e 0.10	470.00	47.00	
11/09/18	IBAMB	Confer with R. Smith and A. Kepha language in Plan addressing corpora dissolution		470.00	188.00	
11/09/18	IBAMB	Research good standing issue	0.30	470.00	141.00	
11/14/18	IBAMB	Review letter from F. Chin re: closi Wells Fargo accounts		470.00	47.00	
11/15/18	BFELD	Research re: ongoing Bellflower litigation	0.30	300.00	90.00	
11/18/18	BFELD	Draft 9019 motion re: ongoing NY: Bellflower litigation	S 1.60	300.00	480.00	

Woodbridge Group of Companies, LLC		mpanies, LLC	Invoice Date: Invoice Number: Matter Number:	Dece	50000959 076549.1001	
Date	Initials	Description	<u>Hours</u>	Rate	Amount	
11/19/18	BFELD	Revise 9019 motion re: ongoing NY Bellflower litigation		300.00	120.00	
11/19/18	IBAMB	Confer with E. Frejka re: teleconfer expense and status of same	rence 0.10	470.00	47.00	
		Total	4.20		1,583.00	
Task Code	B015	Employee Matters				
Date	Init <u>ials</u>	Description	<u>Hours</u>	Rate	Amount	
11/05/18	IBAMB	Confer with M. Smith re: filing CN for KERP Motion, Motion to Seal, Showtime 9019 Motion		470.00	94.00	
11/09/18	SBEAC	Emails with J. Weiss and T. Fox re Notice of Proposed Severance Pays		715.00	71.50	
11/12/18	IBAMB	Review inquiry from T. Fox re: proposed severance	0.10	470.00	47.00	
11/13/18	SBEAC	Email with J. Weiss re: Notice of Proposed Severance Payment	0.10	715.00	71.50	
11/13/18	IBAMB	Review response from J. Weiss to Fox re: proposed severance	Т. 0.10	470.00	47.00	
11/16/18	IBAMB	Review correspondence from J. W re: Board approval of severance fo terminated employees		470.00	47.00	
		Total	0.70		378.00	
Task Code	B017	Retention of Professionals/Fee Issu	ies			
Date	<u>Initials</u>	Description	Hours	Rate	Amount	
11/01/18	IBAMB	Call with B. Feldman re: passing of objection deadline for Fairfield and Woods OCP		470.00	47.00	
11/01/18	BFELD	Emails with D. Stermer re: authoric payment of post-petition OCP involves for Fairfield and Woods		300.00	30.00	
11/02/18	BFELD	Emails with D. Stermer and P. Hu re: OCP retention timeline for Fair and Woods		300.00	30.00	
11/06/18	DLASK	Prepare Certificate of No Objection Klee's Fee Application	on for 0.10	285.00	28.50	
11/06/18	DLASK	Update fees and expenses chart fo Young Conaway	r 0.40	285.00	114.00	
11/06/18	BFELD	Emails with J. Wells and P. Huygo October OCP report	ens re: 0.10	300.00	30.00	

Invoice Date: Invoice Number: Matter Number:

Date	<u>Initials</u>	Description	Hours	Rate	Amount
11/06/18	BFELD	Finalize for filing CNOs re: BRG 7th monthly staffing report (.2) and KTBS 8th monthly fee application (.2)	0.40	300.00	120.00
11/06/18	DLASK	Draft 4th Interim Fee Request of Debtors' Professionals	0.40	285.00	114.00
11/06/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Berkeley's Staffing Report	0.30	285.00	85.50
11/06/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Klee's Fee Application	0.30	285.00	85.50
11/06/18	IBAMB	Confer with B. Feldman and D. Laskin re: Debtors' third interim fee application and lack of responses to same	0.10	470.00	47.00
11/06/18	DLASK	Prepare Certificate of No Objection for Berkeley's Staffing Report	0.10	285.00	28.50
11/07/18	IBAMB	Call with E. Frejka re: timeline for Fee Examiner review of Third and Fourth Interim Fee Applications	0.40	470.00	188.00
11/07/18	IBAMB	Confer with D. Laskin re: fee application considerations	0.20	470.00	94.00
11/07/18	DLASK	Prepare index for Debtors' professionals with respect to Third Interim Fee Appications	1.00	285.00	285.00
11/07/18	DLASK	Review and respond to email from counsel regarding logistics of Third Interim Fee Application hearing	0.10	285.00	28.50
11/07/18	BFELD	Review Province fee app re: September time and expenses (.3); call with I. Bambrick re: same (.1)	0.40	300.00	120.00
11/07/18	DLASK	Finalize for filing and coordinate service of Province's Fee Application	0.40	285.00	114.00
11/07/18	IBAMB	Confer with E. Frejka and D. Laskin re: timeline for Fee Examiner review of Third Interim Fee Applications	0.10	470.00	47.00
11/07/18	IBAMB	Confer with B. Feldman re: terms of Province retention	0.10	470.00	47.00
11/07/18	IBAMB	Review Fee Examiner Order and Interim Comp Order re: timeline for Fee Examiner review of Third Interim Fee Applications	0.40	470.00	188.00
11/08/18	BFELD	Finalize for filing CNO re: GCG 7th monthly fee application	0.20	300.00	60.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	Description	<u>Hours</u>	Rate	Amount
11/08/18	BFELD	Research re: motions to assume (.2); call with I. Bambrick re: same (.1); draft motion to assume re: headquarters lease (3.1) and motion to shorten objection deadline re: same (.6)	4.00	300.00	1,200.00
11/08/18	DLASK	Prepare Certificate of No Objection for Garden City's Fee Application	0.10	285.00	28.50
11/08/18	DLASK	Prepare index for Committee's, Noteholders' and Unitholders' professionals with respect to Third Interim Fee Applications	1.40	285.00	399.00
11/08/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for Garden City's Fee Application	0.40	285.00	114.00
11/09/18	IBAMB	Review correspondence from J. Wells and B. Feldman re: draft of October OCP Report	0.10	470.00	47.00
11/12/18	BFELD	Review October monthly OCP report re: payments made to professionals	0.40	300.00	120.00
11/12/18	IBAMB	Review correspondence from B. Feldman re: question on quarterly OCP report	0.10	470.00	47.00
11/13/18	IBAMB	Confer with E. Frejka re: hearing for Third Interim Fee Applications	0.10	470.00	47.00
11/14/18	DLASK	Prepare Certificate of No Objection for DSI Staffing Report	0.10	285.00	28.50
11/14/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for Homer Bonner's Fee Application	0.30	285.00	85.50
11/14/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for DSI Staffing Report	0.30	285.00	85.50
11/14/18	BFELD	Finalize for filing CNO re: DSI September staffing report and HBJ	0.10	300.00	30.00
11/14/18	IBAMB	Confer with E. Frejka re: timing for Fee Examiner review of Third Interim Fee Applications	0.20	470.00	94.00
11/14/18	DLASK	Prepare Certificate of No Objection for Homer Bonner's Fee Application	0.10	285.00	28.50
11/15/18	DLASK	Assemble exhibits, finalize for filing and coordinate service of Berkeley Staffing Report	0.50	285.00	142.50
11/15/18	DLASK	Update 4th Interim Fee Application for Debtors' Professionals	0.40	285.00	114.00

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	<u>Initials</u>	<u>Description</u>	<u>Hours</u>	Rate	<u>Amount</u>
11/15/18	BFELD	Review (.2) and finalize for filing (.1) eighth monthly fee application re: Berkeley Research Group	0.30	300.00	90.00
11/15/18	DLASK	Prepare Certificate of No Objection for Glaser Weil's Fee Application	0.10	285.00	28.50
11/15/18	IBAMB	Confer with C. Robinson, P. Jackson, and J. Edmonson re: Fee Examiner timeline for Third Interim Fee Applications	0.20	470.00	94.00
11/16/18	DLASK	Prepare Notice for Klee Tuchin's Fee Application	0.10	285.00	28.50
11/16/18	DLASK	Review and respond to email from R. Pfister regarding District Court admittance and notification	0.20	285.00	57.00
11/16/18	DLASK	Finalize for filing and coordinate service of Klee Tuchin's Fee Application	0.40	285.00	114.00
11/16/18	BFELD	Finalize for filing KTBS October monthly fee app	0.30	300.00	90.00
11/16/18	BFELD	Finalize for filing CNO re: YCST September fee application	0.10	300.00	30.00
11/19/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection regarding Young Conaway's Fee Application	0.30	285.00	85.50
11/26/18	DLASK	Finalize for filing and coordinate service of Homer Bonner's Fee Application	0.40	285.00	114.00
11/26/18	BFELD	Finalize for filing October fee application re: Homer Bonner Jacobs fees and expenses	0.20	300.00	60.00
11/26/18	DLASK	Prepare Notice for Homer Bonner Fee Application	0.10	285.00	28.50
11/26/18	IBAMB	Confer with A. Schwartz re: fee app process in light of anticipated Effective Date	0.10	470.00	47.00
11/28/18	DLASK	Finalize for filing and coordinate service of Garden City Group Fee Application	0.40	285.00	114.00
11/28/18	DLASK	Prepare Notice for GCG Fee Application	0.10	285.00	28.50
11/28/18	DLASK	Finalize for filing and coordinate service of Certificate of No Objection for Province Fee Application	0.40	285.00	114.00
11/28/18	DLASK	Prepare Certificate of No Objection for Province Fee Application	0.10	285.00	28.50
11/28/18	BFELD	Finalize for filing CNO re: eighth monthly fee application for Province	0.10	300.00	30.00

Case 17-12560-KJC	Doc 3215-2	Filed 12/20/18	Page 46 of 59
Ousc 11 12500 100	D00 0210 2	1 1100 12/20/10	i age to or oo

Woodbridge Group of Companies, LLC			nvoice Date: nvoice Number: Matter Number:	December 17, 201 5000095 076549.100		
Date	<u>Initials</u>	Description	Hours	Rate	Amount	
11/28/18	BFELD	Review sale motion re: 218 Crystal Canyon property (.6); finalize same filing (.2)	0.80 for	300.00	240.00	
11/28/18	BFELD	Review GCG application re: Octobe fees and expenses	r 0.10	300.00	30.00	
11/29/18	BFELD	Emails with D. Stermer and G. Shoure: Fox Rothschild OCP October inv		300.00	30.00	
11/30/18	DLASK	Prepare Notice for DSI Monthly Staffing Report	0.10	285.00	28.50	
11/30/18	DLASK	Finalize for filing and coordinate se of Young Conaway's Fee Application		285.00	85.50	
11/30/18	DLASK	Finalize for filing and coordinate se of DSI's Monthly Staffing Report	rvice 0.50	285.00	142.50	
11/30/18	BFELD	Finalize for filing DSI October staff report	ing 0.10	300.00	30.00	
		Total	20.30		6,311.00	
Task Cod	le: B018	Fee Application Preparation				
Date	<u>Initials</u>	Description	Hours	Rate	Amount	
11/01/18	IBAMB	Review and revise October time enfor client privilege issues	tries 0.20	470.00	94.00	
11/01/18	IBAMB	Review and revise October time en for client privilege iss	tries 0.20	470.00	94.00	
11/16/18	SBEAC	Email with I. Bambrick and B. Felore: professional fee issues	lman 0.10	715.00	71.50	
11/27/18	IBAMB	Meet with J. Martinez re: questions October fee application	on 0.10	470.00	47.00	
11/30/18	DLASK	Prepare Young Conaway's October Application	Fee 1.50	285.00	427.50	
11/30/18	DLASK	Review expenses on October invoi- request update and revisions as nee		285.00	142.50	
		Total	2.60		876.50	

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 47 of 59

Woodbridge Group of Companies, LLC

Invoice Date: Invoice Number: Matter Number: December 17, 2018 50000959 076549.1001

Timekeeper Summary

<u>Initials</u>	<u>Name</u>	<u>Timekeeper Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
AKEPH	Allurie R. Kephart	Associate	0.10	460.00	46.00
BFELD	Betsy L. Feldman	Associate	41.70	300.00	12,510.00
BWALT	Brenda Walters	Paralegal	0.30	285.00	85.50
DLASK	Debbie Laskin	Paralegal	70.40	285.00	20,064.00
DBOWM	Donald J. Bowman	Counsel	0.70	565.00	395.50
EMORT	Edmon L. Morton	Partner	0.20	750.00	150.00
IBAMB	Ian J. Bambrick	Associate	59.40	470.00	27,918.00
MMILA	Matthew Milana	Associate	14.80	275.00	4,070.00
MNEIB	Michael S. Neiburg	Associate	37.20	555.00	20,646.00
MFRAT	Monica Fratticci	Paralegal	2.00	175.00	350.00
SBEAC	Sean M. Beach	Partner	8.30	715.00	5,934.50
Total			235.10		\$92,169.50

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 48 of 59

Woodbridge Group of Companies, LLC

Invoice Date:
Invoice Number:

December 17, 2018 50000959

Matter Number: 076549.1001

Task S	Summar	ÿ
--------	--------	---

Task Code: B006

Task Summary				
Task Code:B001	Case Administration			
Name	Timekeeper Title	<u>Hours</u>	Rate	Amount
Sean M. Beach	Partner	0.10	715.00	71.50
Betsy L. Feldman	Associate	2.60	300.00	780.00
Ian J. Bambrick	Associate	2.90	470.00	1,363.00
Michael S. Neiburg	Associate	0.10	555.00	55.50
Debbie Laskin	Paralegal	2.70	285.00	769.50
Total		8.40		3,039.50
Task Code:B002	Court Hearings			
Name	Timekeeper Title	Hours	Rate	<u>Amount</u>
Sean M. Beach	Partner	0.20	715.00	143.00
Betsy L. Feldman	Associate	0.10	300.00	30.00
Ian J. Bambrick	Associate	7.80	470.00	3,666.00
Debbie Laskin	Paralegal	5.20	285.00	1,482.00
Total		13.30		5,321.00
Task Code:B003	Cash Collateral/DIP Final	ncing		
Name	Timekeeper Title	<u>Hours</u>	Rate	Amount
Sean M. Beach	Partner	0.30	715.00	214.50
Betsy L. Feldman	Associate	0.10	300.00	30.00
Ian J. Bambrick	Associate	2.70	470.00	1,269.00
Debbie Laskin	Paralegal	1.80	285.00	513.00
Total		4.90		2,026.50
Task Code:B004	Schedules & Statements,	U.S. Trustee Report	<u>ts</u>	
Name	Timekeeper Title	Hours	Rate	Amount
Donald J. Bowman	Counsel	0.70	565.00	395.50
Ian J. Bambrick	Associate	1.20	470.00	564.00
Debbie Laskin	Paralegal	0.40	285.00	114.00
Total		2.30		1,073.50
Task Code:B005	Lease/Executory Contrac	t Issues		
Name	Timekeeper Title	<u>Hours</u>	Rate	<u>Amount</u>
Sean M. Beach	Partner	0.40	715.00	286.00
Betsy L. Feldman	Associate	1.20	300.00	360.00
Ian J. Bambrick	Associate	4.30	470.00	2,021.00
Debbie Laskin	Paralegal	0.80	285.00	228.00
Total		6.70		2,895.00

Use, Sale or Lease of Property (363 issues)

Woodbridge Group of Comp	nanies LLC	Invoice Date:	Dec	ember 17, 2018
	James, BBC	Invoice Number: Matter Number:		50000959 076549.1001
Name Soon M. Doogh	<u>Timekeeper Title</u>	Hours	<u>Rate</u> 715.00	<u>Amount</u> 429.00
Sean M. Beach	Partner	0.60		429.00
Allurie R. Kephart	Associate	0.10 7.20	460.00 300.00	
Betsy L. Feldman Ian J. Bambrick	Associate	7.20 8. 40		2,160.00
	Associate	8.40 14.90	470.00	3,948.00
Debbie Laskin	Paralegal		285.00	4,246.50
Total		31.20		10,829.50
Task Code:B007	Claims Analysis, Object	ctions and Resolutions		
Name	Timekeeper Title	Hours	Rate	Amount
Sean M. Beach	Partner	0.30	715.00	214.50
Betsy L. Feldman	Associate	2.40	300.00	720.00
Ian J. Bambrick	Associate	0.70	470.00	329.00
Debbie Laskin	Paralegal	6.00	285.00	1,710.00
Total		9.40		2,973.50
Task Code:B011	Other Adversary Proc	eedings		
Name	Timekeeper Title	<u>Hours</u>	Rate	<u>Amount</u>
Sean M. Beach	Partner	3.60	715.00	2,574.00
Betsy L. Feldman	Associate	14.80	300.00	4,440.00
Ian J. Bambrick	Associate	24.30	470.00	11,421.00
Matthew Milana	Associate	12.20	275.00	3,355.00
Michael S. Neiburg	Associate	36.80	555.00	20,424.00
Brenda Walters	Paralegal	0.30	285.00	85.50
Debbie Laskin	Paralegal	24.60	285.00	7,011.00
Monica Fratticci	Paralegal	2.00	175.00	350.00
Total		118.60		49,660.50
Task Code:B012	Plan and Disclosure St	tatement		
Name	Timekeeper Title	Hours	Rate	<u>Amount</u>
Edmon L. Morton	Partner	0.20	750.00	150.00
Sean M. Beach	Partner	2.50	715.00	1,787.50
Betsy L. Feldman	Associate	2.60	300.00	780.00
Ian J. Bambrick	Associate	1.70	470.00	799.00
Matthew Milana	Associate	2.60	275.00	715.00
Michael S. Neiburg	Associate	0.30	555.00	166.50
Debbie Laskin	Paralegal	1.20	285.00	342.00
Total		11.10		4,740.00
Task Code:B013	Creditor Inquiries			
Name	<u>Timekeeper Title</u>	Hours	Rate	Amount
Betsy L. Feldman	Associate	0.50	300.00	150.00
Ian J. Bambrick	Associate	0.30	470.00	141.00
Debbie Laskin	Paralegal	0.60	285.00	171.00

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 49 of 59

Woodbridge Group of Con	mpanies, LLC	Invoice Date: Invoice Number: Matter Number:	Dece	50000959 076549.1001
Task Code:B013	Creditor Inquiries			
<u>Name</u>	<u>Timekeeper Title</u>	<u>Hours</u>	Rate	Amount
Total		1.40		462.00
Task Code:B014	General Corporate Ma	atters		
Name	Timekeeper Title	<u>Hours</u>	Rate	Amount
Betsy L. Feldman	Associate	2.30	$30\overline{0.00}$	690.00
Ian J. Bambrick	Associate	1.90	470.00	893.00
Total		4.20		1,583.00
Task Code:B015	Employee Matters			
Name	Timekeeper Title	Hours	Rate	Amount
Sean M. Beach	Partner	0.20	$71\overline{5.00}$	143.00
Ian J. Bambrick	Associate	0.50	470.00	235.00
Total		0.70		378.00
Task Code:B017	Retention of Professio	nals/Fee Issues		
Name	Timekeeper Title	<u>Hours</u>	Rate	Amount
Betsy L. Feldman	Associate	7.90	300.00	2,370.00
Ian J. Bambrick	Associate	2.20	470.00	1,034.00
Debbie Laskin	Paralegal	10.20	285.00	2,907.00
Total		20.30		6,311.00
Task Code:B018	Fee Application Prepa	aration_		
Nam <u>e</u>	Timekeeper Title	<u>Hours</u>	Rate	Amount
Sean M. Beach	Partner	0.10	715.00	71.50
Ian J. Bambrick	Associate	0.50	470.00	235.00
	n 1 1	2.00	205.00	570.00

2.00

2.60

285.00

Paralegal

Debbie Laskin

Total

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 50 of 59

570.00

876.50

EXHIBIT B

DB02:8171976.1 068063.1001

Case 17-12560-KJC Doc 3215-2 Filed 12/20/18 Page 52 of 59

Woodbridge Group of Companies, LLC

Invoice Date:
Invoice Number:

December 17, 2018

50000959

Matter Number:

Total

076549.1001

\$2,264.69

Cost Summary

<u>Description</u>	Amount
Court Reporter	761.25
Delivery / Courier	80.00
Federal Express	39.50
Postage	594.55
Reproduction Charges	498.00
Secretary of State	50.00
Teleconference / Video Conference	7.37
Working Meals	234.02

Invoice Date: Invoice Number: Matter Number: December 17, 2018 50000959 076549.1001

Cost Detail

<u>Date</u>	<u>Description</u>	Quantity	Amount
06/01/18	Secretary of State - Good Standing-Hawthorn Investments, LLC	1.00	50.00
09/14/18	Teleconference / Video Conference	1.00	3.06
10/02/18	Teleconference / Video Conference	1.00	4.31
11/01/18	YCST	1.00	5.00
11/05/18	Photocopy Charges Duplication BW	11.00	2.20
11/07/18	Photocopy Charges Duplication BW	9.00	1.80
11/07/18	Photocopy Charges Duplication BW	10.00	2.00
11/07/18	Postage POSTAGE	1.00	0.47
11/08/18	Photocopy Charges Duplication BW	58.00	11.60
11/08/18	Photocopy Charges Duplication BW	12.00	2.40
11/08/18	Photocopy Charges Duplication BW	62.00	12.40
11/13/18	Scanning Charges SCAN	2.00	0.40
11/13/18	Scanning Charges SCAN	2.00	0.40
11/13/18	Scanning Charges SCAN	1.00	0.20
11/13/18	Photocopy Charges Duplication BW	10.00	2.00
11/13/18	YCST	1.00	7.50
11/13/18	Scanning Charges SCAN	1.00	0.20
11/15/18	Photocopy Charges Duplication BW	11.00	2.20
11/15/18	Photocopy Charges Duplication BW	9.00	1.80
11/15/18	Photocopy Charges Duplication BW	5.00	1.00
11/15/18	YCST	1.00	5.00
11/15/18	Judge Carey's Courtroom	1.00	17.50
11/15/18	Photocopy Charges Duplication BW	18.00	3.60
11/15/18	Photocopy Charges Duplication BW	14.00	2.80
11/15/18	Photocopy Charges Duplication BW	14.00	2.80
11/15/18	Photocopy Charges Duplication BW	45.00	9.00
11/15/18	Photocopy Charges Duplication BW	7.00	1.40
11/15/18	Photocopy Charges Duplication BW	10.00	2.00
11/15/18	Photocopy Charges Duplication BW	1.00	0.20
11/15/18	Photocopy Charges Duplication BW	39.00	7.80
11/15/18	Photocopy Charges Duplication BW	11.00	2.20
11/15/18	Photocopy Charges Duplication BW	42.00	8.40
11/16/18	Photocopy Charges Duplication BW	9.00	1.80
11/16/18	YCST	1.00	7.50
11/16/18	Judge Carey's Courtroom	1.00	17.50
11/16/18	Photocopy Charges Duplication BW	11.00	2.20

Invoice Date: Invoice Number: Matter Number:

<u>Date</u>	Description	Quantity	Amount
11/16/18	Photocopy Charges Duplication BW	5.00	1.00
11/16/18	Photocopy Charges Duplication BW	8.00	1.60
11/19/18	Photocopy Charges Duplication BW	48.00	9.60
11/19/18	Postage POSTAGE	1.00	1.63
11/19/18	Photocopy Charges Duplication BW	35.00	7.00
11/19/18	Photocopy Charges Duplication BW	34.00	6.80
11/19/18	Photocopy Charges Duplication BW	33.00	6.60
11/19/18	Photocopy Charges Duplication BW	48.00	9.60
11/19/18	Photocopy Charges Duplication BW	48.00	9.60
11/19/18	Photocopy Charges Duplication BW	25.00	5.00
11/19/18	Scanning Charges SCAN	1.00	0.20
11/19/18	Photocopy Charges Duplication BW	44.00	8.80
11/19/18	Photocopy Charges Duplication BW	38.00	7.60
11/19/18	Photocopy Charges Duplication BW	37.00	7.40
11/19/18	Photocopy Charges Duplication BW	41.00	8.20
11/19/18	Postage POSTAGE	17.00	592.45
11/19/18	Scanning Charges SCAN	42.00	8.40
11/19/18	Photocopy Charges Duplication BW	6.00	1.20
11/19/18	Photocopy Charges Duplication BW	36.00	7.20
11/19/18	Scanning Charges SCAN	6.00	1.20
11/19/18	Scanning Charges SCAN	42.00	8.40
11/19/18	Scanning Charges SCAN	6.00	1.20
11/19/18	Scanning Charges SCAN	1.00	0.20
11/19/18	Photocopy Charges Duplication BW	32.00	6.40
11/19/18	Photocopy Charges Duplication BW	44.00	8.80
11/19/18	Photocopy Charges Duplication BW	16.00	3.20
11/19/18	Photocopy Charges Duplication BW	48.00	9.60
11/19/18	Photocopy Charges Duplication BW	32.00	6.40
11/19/18	Photocopy Charges Duplication BW	47.00	9.40
11/19/18	Photocopy Charges Duplication BW	37.00	7.40
11/20/18	Photocopy Charges Duplication BW	12.00	2.40
11/20/18	Photocopy Charges Duplication BW	9.00	1.80
11/20/18	Photocopy Charges Duplication BW	9.00	1.80
11/20/18	Photocopy Charges Duplication BW	29.00	5.80
11/20/18	Court Reporter	1.00	761.25
11/20/18	Working Meals	1.00	133.00
11/20/18	Working Meals - Delivery	1.00	17.50
11/20/18	Judge Carey's Courtroom	1.00	7.50
11/20/18	Photocopy Charges Duplication BW	12.00	2.40

Invoice Date: Invoice Number: Matter Number:

Date	Description	Quantity	Amount
11/20/18	Photocopy Charges Duplication BW	9.00	1.80
11/20/18	Photocopy Charges Duplication BW	1.00	0.20
11/20/18	Photocopy Charges Duplication BW	12.00	2.40
11/20/18	Photocopy Charges Duplication BW	9.00	1.80
11/20/18	Photocopy Charges Duplication BW	29.00	5.80
11/20/18	Scanning Charges SCAN	1.00	0.20
11/20/18	Photocopy Charges Duplication BW	16.00	3.20
11/20/18	Photocopy Charges Duplication BW	126.00	25.20
11/20/18	Photocopy Charges Duplication BW	23.00	4.60
11/20/18	Photocopy Charges Duplication BW	29.00	5.80
11/20/18	Scanning Charges SCAN	1.00	0.20
11/21/18	DAVID M. STERN ESQ. KLEE TUCHIN BOGDANOFF & STERN 1999 AVENUE OF THE STARS LOS ANGELES, CA 90067	1.00	19.82
11/21/18	Photocopy Charges Duplication BW	27.00	5.40
11/21/18	Photocopy Charges Duplication BW	24.00	4.80
11/26/18	Scanning Charges SCAN	1.00	0.20
11/26/18	Photocopy Charges Duplication BW	7.00	1.40
11/26/18	Scanning Charges SCAN	1.00	0.20
11/26/18	Photocopy Charges Duplication BW	24.00	4.80
11/27/18	Photocopy Charges Duplication BW	9.00	1.80
11/27/18	Photocopy Charges Duplication BW	7.00	1.40
11/27/18	Photocopy Charges Duplication BW	80.00	16.00
11/27/18	Photocopy Charges Duplication BW	9.00	1.80
11/27/18	Photocopy Charges Duplication BW	79.00	15.80
11/27/18	Photocopy Charges Duplication BW	29.00	5.80
11/27/18	Photocopy Charges Duplication BW	79.00	15.80
11/27/18	Photocopy Charges Duplication BW	12.00	2.40
11/27/18	Photocopy Charges Duplication BW	77.00	15.40
11/28/18	Photocopy Charges Duplication BW	3.00	0.60
11/28/18	Color Photocopy Charges Duplication Color	9.00	7.20
11/29/18	Photocopy Charges Duplication BW	2.00	0.40
11/29/18	Photocopy Charges Duplication BW	27.00	5.40
11/29/18	Photocopy Charges Duplication BW	27.00	5.40
11/29/18	YCST	1.00	7.50
11/29/18	BOBBIE PURDY FIDELITY NATIONAL TRUST 555 SOUTH FLOWER ST LOS ANGELES, CA 90071	1.00	19.68
11/29/18	Photocopy Charges Duplication BW	12.00	2.40
11/29/18	Photocopy Charges Duplication BW	24.00	4.80
11/29/18	Photocopy Charges Duplication BW	73.00	14.60

Case 17-12560-KJC Doc 3215-2

Filed 12/20/18

Page 56 of 59

Woodbridge Group of Companies, LLC

Invoice Date: Invoice Number: Matter Number:

December 17, 2018

50000959 076549.1001

<u>Date</u>	Description		Quantity	Amount
11/30/18	Scanning Charges SCAN		91.00	18.20
11/30/18	Photocopy Charges Duplication BW		24.00	4.80
11/30/18	Working Meals		1.00	83.52
11/30/18	YCST		1.00	5.00
11/30/18	Photocopy Charges Duplication BW		6.00	1.20
11/30/18	Photocopy Charges Duplication BW		18.00	3.60
11/30/18	Scanning Charges SCAN		91.00	18.20
		Total		\$2,264.69

EXHIBIT C

DB02:8171976.1

BUDGET NOVEMBER 2018				
Project Category	Estimated Hours	Estimated Fees		
Case Administration (B001)	20.00	\$10,423.20		
Court Hearings (B002)	39.90	\$20,846.40		
Cash Collateral/DIP Financing (B003)	13.30	\$6,948.80		
Schedules & Statements, U.S. Trustee Reports (B004)	39.90	\$20,846.40		
Lease/Executory Contract Issues (B005)	39.90	\$20,846.40		
Use, Sale or Lease of Property (363 issues) (B006)	166.30	\$86,987.92		
Claims Analysis, Objections and Resolutions (B007)	13.30	\$6,948.80		
Meetings (B008)	26.60	\$13,897.60		
Stay Relief Matters (B009)	13.30	\$6,948.80		
Reclamation Claims and Reclamation Adversaries (B010)	6.70	\$3,474.40		
Other Adversary Proceedings (B011)	66.50	\$34,744.00		
Plan and Disclosure Statement (B012)	86.50	\$45,167.20		
Creditor Inquiries (B013)	26.60	\$13,897.60		
General Corporate Matters (B014)	20.00	\$10,423.20		
Employee Matters (B015)	6.70	\$3,474.40		
Asset Analysis (B016)	0.00	\$0.00		
Retention of Professionals/Fee Issues (B017)	59.90	\$31,269.60		
Fee Application Preparation (B018)	13.30	\$6,948.80		
Travel (B019)	8.00	\$4,169.28		
Utility Services (B020)	3.30	\$1,737.20		
Total	670.00	\$350,000.00		

STAFFING PLAN					
Category of Timekeeper	Number of Timekeepers Expected to Work on the Matter During the Budgeted Period	Average Rate ¹			
Partner	3	\$713.91			
Counsel	1	\$565.00			
Associate (7 or more years since first admission)	2	\$490.14			
Associate (4-6 years since first admission)	1	\$360.00			
Associate (less than 4 years since first admission)	2	\$300.00			
Paralegal	2	\$285.00			

¹The Average Hourly Rate is a weighted average based on the individual hourly rate of, and projected number of hours worked by, each timekeeper over the course of the Budgeted Period.